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Question ID:

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

FA=fafEa arft & gaurigds afey ik 39 da ke 7 usit & s dfSg:
FA=fafEa arft § ar ffvrs geamat & fog giw autf & @z gos Re g 8

a¥ [t ot olow <t vjuw ¢ o foher
2016|25000( 52000 | 60200 | 30000
201726500 53500 | 61400 | 32000
2018|27200| 54200 | 62500 | 32000
2019|27600| 55700 | 62900 | 33400
2020|28000| 56800 | 63700 | 33900

What is the difference between the average semester fees of BCA and average semester fees of MCA during
2016-20207?

ad 2016-2020 & R &t T T & i GHweR Yeoh aUT TH It U & H6d GH% h | T 3w g ?
Options:-

.27200/27200, Option ID :- 9721,

« 27365/27365, Option ID :- 9722,

« 27400/27400, Option ID :- 9724,

_/27580/27580, Option ID :(9723)




Answer Given:- 27365/27365, Option ID : -%2

Question ID:

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900
fFrafafaa aroft # gauigds oy ofik 3ud i g g usit & s g
Frafafaa arft & ar f&f Y gswsat & fog uig auf & @ e Ry e 8
af [t ot gluw & qloH & oA et
2016|25000| 52000 | 60200 | 30000
2017|26500| 53500 {61400 | 32000
2018/27200| 54200 | 62500 | 32000
2019|27600| 55700 | 62900 | 33400
202028000 56800 | 63700 | 33900
Find out the average of difference of fees of MCA and MTech for 2016-2020.
s 2016-2020 & fAQ gH i T TUT QA ¢k & GHR Yeoh &1 HHd iR T« FHifSrgi
Options:-
.7600/7600, Option ID :- 9738,
. 7650/7650, Option ID :- 9739,
L7700/7700, Option ID :
. 7750/7750, Option ID :- 9740,
Answer Given:- 7650/7650, Option ID : -9)69
Question ID:
Study the given table carefully and answer the questions that follow
The following table has semester fees for four different courses in 5 different years
Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900




FArafafaa arft Ft aauaigds ofee sik ST fig Ry g usi & sk &S
FA=fafEa arft & ar fafYs geawat & fog g autf & @z g Re e &

a¥ [t ot olow <t vjuw ¢ o fohe
2016|25000( 52000 | 60200 | 30000
2017|26500| 53500 | 61400 | 32000
201827200 54200 | 62500 | 32000
2019|27600| 55700 | 62900 | 33400
2020{28000| 56800 ({63700 | 33900

Which course has highest percentage fee increase from 2019 to 2020? - A 100
— - ——"'\0 u”b'f

e ursaer A af 2019 & af 2020 & i ook A rfAFan nfaa Hrgfggd 8 2

Options:-

.BCA/t €t §, Option ID :- 9725,
/MCA/Tqq &t g, Option ID :-
. MPhil/gw foset, Option ID :- 9728,

. MTech/q# 2, Option ID :- 9727,
Answer Given:- MCA/q# dt @, Option ID : -9726

Question ID:

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

FAafafaa arft Ft aauaigds afee sik suF fia Ry g usi & RS
FA=fafeaa arft & ar fafYs geawat & fog g autf & @z g Re g gl

ay [t 9t uluw ot ¢juw e [uH fohe
2016|25000( 52000 | 60200 | 30000
2017|26500| 53500 | 61400 | 32000
2018|27200| 54200 | 62500 | 32000
2019|27600| 55700 | 62900 | 33400




|2020|28000| 56800 | 63700 | 33900 |

Viput

Which course has the lowest percentage fee increase from 2017-2018?

e ursaern # af 2017 § af 2018 & = e A FAan ufaa FrgfE g 8 2

Options:-

.BCA/t #ft §, Option ID :- 9729,
\/MCA/QTI dt g, Option ID @
. MPhil/gw foset, Option ID :- 9732,

. MTech/q# 2, Option ID :- 9731,
Answer Given:- MTech/qT# g, Option ID : ?@

Question ID:

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

fFAafafaa arft # gauigds afey ok 3T i g g usit & s g
Frafafaa arft & ar faf Y gswwat & fOg g auf & @ g Ry e 8

a¥ [t ot glow ©f vjuw ¢ [ow foher
2016|25000( 52000 | 60200 | 30000
2017|26500| 53500 | 61400 32000
2018/27200| 54200 | 62500 | 32000
2019/27600| 55700 | 62900 | 33400
2020/28000| 56800 | 63700 | 33900

co—esY ”Awla

Find out the difference between total semester fees (for all courses) of 2018 and 2019.

— —_— —

ad 2018 aut af 2019 & G} ureTHH] & foIg Fer AR [ A iaR A9 RfATI

Options:-

\1~3100/3100, Option ID :




. 3150/3150, Option ID :- 9735,
. 3250/3250, Option ID :- 9733,

. 3270/3270, Option ID :- 9734,
Answer Given:- 3100/3100, Option ID : -973(}

Subject : GP_26NOV_SH2_B

Question ID: 20 Q . =

Given below are two statements -

Statement I: Parametric statistics are more powerful than non-parametric statistics

-

Statement Il: Parametric statistics are assumption free statistics

In light of the above statements, choose the correct answer from the options given below
Repach | hd

R FumfRemgd:

YA - | : T Fifedh hY go= | urae gifeadh sifdaw afheret g1

&Y - || : urae iferdht sifiug g+ Fiferht gt g1

IuY<h HYAl & el A Ffaf@a Recai A d adt R g -

Options:-

.Both Statement | and Statement Il are false/&y= | 3R 1l 14T 3/ &1, Option ID :- 9770,

. Both Statement | and Statement Il are true/& | 3R |1 g1 9 &1, Option ID :- 9769,

. Statement | is false but Statement Il is true/&¥ | 3194 & , faheg &Y= Il = g1, Option ID :- 9772,

v
L Statement | is true but Statement Il is false/@u | T &, fahg @y Il 39 & |, Option ID :
Answer Given:- Both Statement | and Statement Il are true/&y= | 3ii® Il 4T 9 &1, Option ID : -

Question ID: Q-’-_P_
+t

Given below are two statements
Statement I: A vehicle's speed of 30.6 km/hr is the same as 5.8 m/s.

Statement II: The speed of a bus is 72 km/hr. The distance covered by the bus in 10 seconds is 100 meter.

In light of the above statements, choose the correct answer from the options given below

R rumfRemgd:

&Y - | : foreft args i nifar 30.6 farei/eer, 5.8 Hiex/Adhs & aR1eR 21

&Y - |l : foreft a9 i nifer 72 famfl/eer @1 s 10 S & 100 Hiex B g aa &=t 81

IR Yl & et A Fafeafed el § @ adt s g

Options:-

[Both Statement | and Statement Il are false/&¥ | 3R Il g 3rwea g1, Option ID :

. Both Statement | and Statement Il are true/&y | 3R 11 =1 97 &1, Option ID :- 9813,
. Statement | is false but Statement Il is true/e&¥ | 319 & , fah=g U= || I g1, Option ID :- 9816,




. Statement | is true but Statement Il is false/&¥= | 9 & , foh=g ® Y= Il 3/9=a & |, Option ID :- 9815,
Answer Given:- Statement | is true but Statement Il is false/&¥y=T | g & , foheg &Y= Il 3= & |, Option ID :

9815

Question ID:42444

Which among the following methods is commonly used in anthropological research?

Maéwh\ (5

FA=fafEa d @ fFa yonet a1 Sugh gfast et & frar srar g 2

Options:-
.Case study method/=af<s srega=t worresl, Option ID :- 9774,

L#Ethnographic method/<Tifer g=1 woTreft, Option ID : - (MH'M'&

. Life history method/sfia=i-g= womef, Option ID :- 9775,

. Survey method/sderor fafd yorret, Option ID :- 9773,
Answer Given:- Survey method/sideror fafer gomet, Option ID : -97}{

Question ID:

In communication, entropy refers to

p|cs -0

woyor # fAsfiaa (detdt) o forad dea g ?

Options:-

.Defensive speech/zetTeweh arep (fatsf@a wiiwr), Option ID :- 9784,

. Oratory/9HTa2MTet a<par (3Re<), Option ID :- 9783,

¥Predictable message/qafgaa w21 (Ufeereer A€w), Option ID :- 9781,

L Onpredictable message/3rqaf_aa w21 (armfEae ddw), Option ID :
Answer Given:- Predictable message/gafqaa dear (Wfaake« adst), Option ID : -97X

Question 1D:4 2459 _
1L

Which one of the following statements is true with reference to samanyatodrsta inference?

4,8

AT SIgAF & day # Aefaf@a § € al9-3 sy a8t § ?

Options:-

.The middle term is related to the major term as an effect/aq T Ha |Ig] & & & U | giar g1, Option ID :-
9834,

. The middle term is related to the major term both as a cause and an effect/gq &1 Hait HIg] & TR 3R Hrf
Zi41 =ui & giar &1, Option ID :- 9836,

¢ The middle term is related to the major_term neither as a cause nor as an effect/gq @1 W&y ATET & 9 HROT
% $U H 3R 9 &t &rd & u A ghar g1, Option ID : =

. The middle term is related to the major term as a cause/gq &1 Hsiel ATg] § HRUT & U A giaT g1, Option ID :-
9833,

Answer Given:- The middle term is related to the major term as an effect/gq @1 Hay &1g] & &rf & ¥4 & ghan
21, Option ID : -9%

Question ID:




V]

NSQF will be aligned with International Standard Classification of Occupations maintained by

QI QH R TE _____ <h SJREIUT H SHARTEIT HGHT HAT-ch GTh0T & TTY TG gt ST ?

Options:-

LALo/am€ gt ait, Option ID :

. Ministry of Skill Development/@i2ret faertdt wATerg, Option ID :- 9884,
. NQFVE/Q+ &g ¢ ot €, Option ID :- 9883,

. UNESCO/g=%ht, Option ID :- 9882,
Answer Given:- Ministry of Skill Development/art2ret faerre w=rerd, Option ID : -%

Question ID:-(2474

Which of the following statement(s) do NOT hold true with respect to the Vocational Education as per NPE-
2020? - X

= Y8 2 Jedop
A.B. Vo_f:= degrees introduced in 2013 will be discontinued o

B. Lok Vidya courses will replace existing vocational courses

C. Focus areas for vocational education will be chosen on skills gap analysis without mapping local
opportunities -

D. National Committee for integration of Vocational Education will be constituted

gﬁlocational education will be integrated into all schools and higher education institutions in a phased
manner over the next decade

—_—

Choose the correct answer from the options given below:

T it § 2020 & IR EAAF e & Feu A AT A d s dad g & ?

A. ad 2013 # & Y 7€ it afes f3ft ot T = R smem

B. a<H1T= STaETiAch UTSashA & R WR dieh fden ursushn % favar srgmmi

C. T 3wl Y At fhg =T lerer sr=R fRAsiwor R aorgaress fAen & g Fa &= g4 smem)
D. aATaETAeh AT & TR gq Teh AT AN fda faar s

E. 37Tet &21eh ® 9t faeneral aur S=aar fen Sl # wryag atch @ aaraarie faen gwifera & smerft
H= g Q¢ el # F st SR TA -

Options:-

VA' B and C only/aa« A, B 3iR C, Option ID :

. A, C and D only/&a A, C 3R D, Option ID :- 9896,
. B, C and D only/aae B, C 3% D, Option ID :- 9894,

. C, D and E only/&a C, D 3R E, Option ID :- 9895,
Answer Given:- C, D and E only/aa« C, D 3R E, Option ID : -%‘5

/ .
Question ID: WAy 3 Qo wodunalt ‘ DIWL(AJ-

Given below are two.statements LO l

Statemer‘lt/ I: Exploratory studies mainly aim at developing hypotheses or questions for further research.
= =

- -~ ==




Statement1l: The goal of formal study is to test the hypotheses or answer the questions posed.

— -

In light of the above statements, choose the correct answer from the options given below

M FufRemgd:

YA - | : GHAY 3G T |&T qEAd: R & M & g aRerear sivar wsit @ fAafor w=ar glan @i
&Y - |l : SuEIRRes 31y o1 2T UREBIAT T TRETUT HeT ST U8 T4 Uil & IR 471 giar 81
Iudh YAl & oneites A fFrafafaa Reai d @ af g :

Options:-
.Both Statement | and Statement Il are false/e | 3iRR |l &1 3/ &1, Option ID :- 9778,

L/Both Statement | and Statement Il are true/&4= | 3R Il E&=¥ T &1, Option ID

. Statement | is false but Statement Il is true/a&¥= | 3/ & , foh=g &Y= Il =7 &1, Option ID :- 9780,

. Statement | is true but Statement Il is false/&¥= | 9 & , foh=g %Y= Il 3/8 @ |, Option ID :- 9779,
Answer Given:- Statement | is false but Statement Il is true/&¥= | 318 g , foheg Y= 1| = &1, Option ID :

60
Question ID:

Which one of the following is a type of malvgre embedded in a program on a computer that will set off a
malicious function when certain conditions are met?

PT | 0ss8| kus) s
forelt sheger & v | s v ag fore UehR &1 ATdSR @ St e ard gt 819 UR &RTE YR oht Uge et @ ?

Options:-

V/fogic bomb/<1fStes a9, Option ID :
. Spyware/T$d3R, Option ID :- 9843,

. Trojan/gIsT, Option ID :- 9842,

. Worm/a#, Option ID :- 9841,
Answer Given:- Logic bomb/#fSYes a9, Option ID \}Bﬂ4/

Question ID:

"No one has been able to prove the existance of extrasensory perception. We must therefore conclude that
extrasensory perception is a myth". Which of the following fallacies is committed in this argument?

—

Ql
o oft arefifa et & oy Y T T3 o uTaT 21 or: 58 a e P iRy R orfif e v
Ay dr smad A s-ardugen @ ?

Options:-
\/ﬂ-\ppeal to ignorance/ 3N AT 31RIY, Option ID :@
. Appeal to unqualified authority/smfasier wfleFR @t 3igRie, Option ID :- 9831,
. Red herring/férufa &= (¥ 2Rar), Option ID :- 9832,

. Straw man/¥T#4, Option ID :- 9830,
Answer Given:- Appeal to ignorance/3T-If3rdT a1 3131, Option ID : -9829

Question ID




\

Keeping quiet because of fear of punishment in comr@gﬁcation is an barrier.
ey
YOI A ES F M Q@ UGG ___ HRiU g :

Options:-

.Incentiyé/ﬁTUTrﬁ?EF, Option ID :- 9787,
7 Individual/=afwrird, Option ID :4 9788

. Instits&ional/ﬁ@mﬁ, Option ID :- 9785,

. Interactigial/ 3= feareres, Option ID :- 9786,
Answer Given:- Individual/=afew1d, Option ID : -9788

Question ID:-

Given below are two statements, one is labelled as Assertion Q_ and the other is labelled as Reason R

Assertion A: Teachers should accept students as they are and with whatever cognitive level they have.

Reason R: Moralizing, being judgemental, exposing ignorance are barriers to successful communication.
= E—3 -

In light of the above statements, choose the correct answer from the options given below

MR A Ruaw e : F ot fmy= (A) iR TR &t ah (R) @t T 81

3ifAHYA (A) : fAereni ot anfae for @ faenfdat @t St vu A iR & Star fh & & ik St +ft 39T SaTeHs R
gl

ah (R) : Fregufa, Aofama (Serdes) gian sHfATar (FR-T) &l SSITR AT Sthel HUWOT & ART 7 SraRIY &1

IuY<h HYUAT & HTeiter A Fifohe RAeeal & @ Gt SR A -

Options:-

.A is false but R is true/(A) 3/5ed § U= (R) & &1, Option ID :- 9800,
. Ais true but R is false/(A) §&t & 4] (R) 319 &, Option ID :- 9799,

V/ Both A and R are true and R is the correct explanation of A/(A) 3iR (R) &<l @ & iR (R), (A) &Y Ut =

g1, Option ID : -

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iR (R) &f &« § u==] (R), (A) & dgt
et A1g1 g1, Option ID :- 9798,

Answer Given:- Both A and R are true and R is the correct explanation of A/(A) 3iR (R) &1 ¥« & 3R (R), (A)
& 9l aarz=T g1, Option ID : -9‘7/3‘7

Question ID:

Which of the following are the stages of meta—?nalysis?

A. Understand the literature - - m
B. Conduct new studies to fill the gap

C. Develop inclusion and exclusion criteria of the study

D. Locating primary studies

E. Identify secondary data




Choose the correct answer from the options given below:

fFrfafae d @ o9 @ g fRssuor (e gaensfRe) & @wRur g :
A. Tifga =) gusET

B. 3idR Al &hH ¥ & fAIT T T Srema= ST

C. fenfdal & faw gurEE 3R sruesi= Aes faerfaa &
D. srufAes 31eaT T TdT ST

E. fgaes srieret 6l ugan= sh=am

M2 g g ol 7 9 wd IR A

Options:-

.A, B and D only/@aet A, B 3R D, Option ID :- 9765,
\’/A, C and D only/aa« A, C 3R D, Option ID :
. B, C and D only/a&ae B, C 3R D, Option ID :- 9766,

. B, D and E only/asae B, D 34k E, Option ID :- 9768,
Answer Given:- A, B and D only/ea« A, B 3R D, Option ID :%
J

Question ID: M:'\’{ {M /N

The web portal of Swayam Prabha is maintained by

—

G UMT & A9 g ot srqreror Rafaf@a 7 & forads gri frar sran g ?

Options:-

.Doordarshan/gz2f, Option ID :- 9742,

- Google dia office/ Tt gf3ar eiffthw, Option ID :- 9743,

. Indian Institute of Technology, Kharagpur/¥Rea sienfiht s@u, @s TR, Option ID :- 9741,

_ANFLIBNET centre/g=heflaie 9=z, Option ID :
Answer Given:- INFLIBNET centre/3<hefla-ie @+, Option ID : -9744

Question ID:

. . . . ”
Which one of the following fractions is the Iz_a:gest. —Ji < \
[ \ QG vy
Preafafe 4 @ 27 aad gz A d 2 0-¢ I'5 @il
—
{ W
Options:- A X 1

.11/16/11/16, Option ID :- 9802,
. 31/40/31/40, Option ID :- 9803,
. 5/8/5/8, Option ID :- 9801,

L<57/80/67/80, Option ID :
Answer Given:- 67/80/67/80, Option ID : -9804

Question ID:




Which of the following states has maximum wind power potential in India as per MVRE's latest report?
e
TH. TF. IR. §. F srera Ralé & sigaR Fafef@a 7 3 forg wsg #§ wira o ga=1 st @Y sifdaraw @vmasm g ?

Options:-

[ ]
V/.éujarat/{l,ﬁ?l?-r, Option ID : &d_’!()h -~ z\ﬁuab/‘m ?'oit+qo 0 uk:- G

. Karnataka/ah<ifeeh, Option ID :- 9879,

. Rajasthan/a<si&41H, Option ID :- 9877, oy
. Tamil Nadu/affieTs, Option ID :- 9878, Lo
Answer Given:- Tamil Nadu/af@@=rs, Option ID : -9878

/
Question ID:% 2468

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Schistosomiasis is a polluted water born_g he

Reason R: Schistosomiasis is mainly caused due to the presence of sulphate in water

-—

In light of the above statements, choose the correct answer from the options given below

M AruARuIwE: g ot i my= (A) iR TR &t ah (R) gt T 81
SifRemyH (A) : e Sifaefaw g gt s sifaa W 8l

@ (R) : iR 1 qrege: urt § asthe fY SufRf & Fror gar 81
IUYh HYl & Tt A FAifehda fasedl 7 € adt s g4 -

Options:-

.A is false but R is true/(A) 315 § U= (R) &= &1, Option ID :- 9872,

s ACis true but R is false/(A) e & o] (R) 3% &1, Option ID :

. Both A and R are true and R is the correct explanation of A/(A) 3iiR (R) EFT T & 3R (R), (A) &t Tl suren
21, Option ID :- 9869,

. Both A and R are true but R is NOT the correct explanation of A/(A) iR (R) &l9f @@ & u==g (R), (A) Ft wgh
=TT 1l 21, Option ID :- 9870,
Answer Given:- A is true but R is false/(A) ¥ g u3=g (R) 3157 &1, Option ID : -9871

/
Question ID

Match List | with List I

List | List Il

MOOC Platform |Developer

A. Coursera ™\ |l. Anant Agarwal

B. Udacity Il. Salman Khan

C. Edx Il. Andrew Ng, Daphne Koller
D. Khan Academy|lV. Sebastian Thrun

Choose the correct answer from the options given below:

Tt -1 8 g -1l @ A A




T -l T -1l

Teh TEthTH Fmtar

A. SRIERT . 3T~ 3aTe

B. I=TRA& Il. 99 @=
C.§stgaw IIl. =5 TS, 3YA hierR
D. & QehfeHt IV. §afeH Y&

H1 iy g fApeut & @ @t SR glg:

Options:-

«A-1,B-1I,C-Ill,D -1V, Option ID :- 9757,
«A-II,B-1Il,C-1V,D -1, Option ID :- 9760,

LA -1Il,B -V, C-1,D - I, Option ID :

«A-1IV,B-1,C-Il,D-Ill, Option ID :- 9759,
Answer Given:- A-1ll, B-1V,C -1, D - ll, Option IM758

Question ID:

SARTHAQ is H t
IR (WU IR ATITE) 8 :
Options:-

.A Government of India initiative to provide psychological support for students and teachers for mental health
and emotional well being/AT-IAI% TTRA AUT HIATHE dgew & forg Renfiat aur fAemep w a=amHe
HETIET W& e g WRd TR &1 Yeh T, Option ID :- 9887,

. A training programme for teachers launched by the Government of India/¥Rd YRR ZRT T/ 74T fALTRI
& for ufAeres srfsrw, Option ID :- 9885,

. An organization for supporting the differently abled children/feeain s=at &t wgraar & faQ v wrfaFm,
Option ID :- 9888,

_Afmplementation plan for NEP-2020/¢ & oY - 2020 2 sraf=aa= gierr, Option ID :{ 9886,
Answer Given:- A training programme for teachers launched by the Government of India/¥YRd A¥hR gRT
gerrar T fAereRt & forg ufAarer swrdera, Option ID : -9885

Question ID:

Following are some statements regarding most of the web browsers. Choose the correct statements.

LA They have a home page 1‘:5.

B. They do not have the ability to store users' favourite pages > (:fqm.x P"»P"\L - 60 + // 60
/G~ They have hype‘rll_nks to allow users to navigate | — )\o 2

D. They do not keep a history of websites visited by the users = _}

Choose the correct answer from the options given below: g— 2+

MR Re
S1fAepier A9 SR & ey A A o FyA Ry g g1 T wy=t w gfAg: -
A. ST<hT 811 O gt 81

B. val~hT & X deit & dug e il IThl ermar g gl
C. I UTH UaiwhT ! TaTer i rgafa 33 & g gew i @14 &1




VvV

c

\A

D. 31k UTH YI=hT ZRT HATfeid AH13el ol i Ydqd gl atdrl
R Ry aw e dda@i s :

Options:-

.A and B only/@wae A 3R B, Option ID :- 9854,
L7 A and C only/3ast A 3f% C, Option ID :
. A and D only/<haet A 3iR D, Option ID :- 9856,

. B and D only/deet B 3R D, Option ID :- 9855,
Answer Given:- A and C only/deet A 3iR C, Option ID : -9853

Question ID:€ 2438

Given below are two statements

| Statement I: The ability to form and use symbols (words, gestures, signs, images, and so on) are
accomplished in the preoperational period.

Statement II: According to Piaget, preoperational children do not have a tendency to be egocghtric.

In light of the above statements, choose the most appropriate answer from the options given below

fRaayfReTwg:

YA - | : Hehdl (2Meg, HTG- 4T, Hoha, foia onf) & FAafor aun Iuzn 6 amar gd-wferararas @rer & Aoofea gidt
gl

&Y - |l : Tt & oguR, gd-wfharere a=ai | srgdien gt i ugfa g gt 21
IuY~h FHYAI & 3MTeiteh | Al el § & 98 IR - D f)__z

Options:- Plansa
.Both Statement | and Statement Il are correct/&y= | 3iR 11 €41 9gt &1, Option ID :- 9749,

. Both Statement | and Statement Il are incorrect/&¥ | 3R Il T 711 &1, Option ID :- 9750,

Vétatement | is correct but Statement Il is incorrect/&y= | € g , fohg &Y= Il 717 & |, Option ID

. Statement | is incorrect but Statement Il is correct/au= | 31 g g , foheg &Y Il W g1, Option ID :- 9752,
Answer Given:- Statement | is incorrect but Statement Il is correct/&y= | 31 ¥ g , foheg Y= 11 & &1, Option
ID : -9752

Question ID:( 2473>

Given below are two statements

WO
Statement I: The National Knowledge Commission recommended opening 500 universities to enable India to
attain a Gross Enrolment Ratio of at least 20 % by 2015 —
utk = -

Statement II: The need to establish an Independent Regulatory Authority for Higher Education (IRAHE) was
recommended by the National Knowledge Commission

In light of the above statements, choose the most appropriate answer from the options given below

RaaufReTwg:

U - | : AL T TN A 9 2015 dh R H Fed AR U HH A HH 20% AT e & fg agi 500
fayfaarea @l s 6 RAwiRer i gl




HYA - || : AET T HTNT 7 Qoh WA I=aer e g mifdewzor f o= i RAwRer 6 g
Iud<h HYAl & el d Ffaf@a R A d adt R g :

Options:-

.Both Statement | and Statement Il are correct/&y= | 3iR Il €41 9gt &1, Option ID :- 9889,

. Both Statement | and Statement Il are incorrect/&¥ | 3R Il T 711 &1, Option ID :- 9890,

. Statement | is correct but Statement Il is incorrect/&u= | T&t & , fohwg @Y= Il 7Te1a @ |, Option ID :- 9891,

V/Statement | is incorrect but Statement Il is correct/@u= | 7Ted g , foheg &= Il @&t &1, Option ID :-'Q
Answer Given:- Both Statement | and Statement Il are correct/& | 34 Il g1 Ggt €1, Option ID : -9889

Question ID:A 2465

Match List I with Listll (S = Jop —tougs

List | List lI
Type of memory Fabrication method
A. Dynamic Random Access Memory (DRAM) .- I. Flip-flops
B. Static Random Access Memory (SRAM) - Il. Floating gate transistors and capacitors
C. Programmable Read Only Memory (PROM) — lll. Transistors and capacitors
D. Erasable Programmable Read Only Memory (EPROM)|IV. Matrix of fuses
v~

Choose the correct answer from the options given below:

Tt -l 8 g -1l @ A A

g -l Tt -1l
AR 3 T TXAT YOIt (Gfsichar
AUE)

A. SO F=H a9 AHIR
(3™) DS &M . :
B. 2R Y=n gada A6 (57) Il. w=Aife e gifoied qus

C. urfes = anafer AATRR

I. fe1g - gty
i

(si7) T 1. gﬁ:ﬁmm
D. Solae Wi e o
JERPNE U IV. AR ST gt

H R g faereat & | wd SR gfw:
Options:-

LA-Il,B-1,C-Illl,D-IV, Option ID :- 9858,
L~A-1ll,B-1,C-1V,D-Il, Option ID :
«A-lll,B-1V,C-1,D-Il, Option ID :- 9860,

«.A-IV,B-II,C-1,D -Ill, Option ID :- 9859,
Answer Given:- A-1l,B-1,C-1ll, D -1V, Option ID : -99(

Question ID:

Which one of the following Millenium Development Goals is about ensuring Environmental Sustainability?

fFafafaa & @ Fi9-a1 ggarfe e dea wafaror et arofigar gRfga #A S dadud 8 2




Options:-

.Goal-1/#&4 - 1, Option ID :- 9861, grutic
. Goal-3/<18g - 3, Option ID :- 9862,

. Goal-5/e189 - 5, Option ID :- 9863,

\+<Goal-7/7ieq - 7, Option ID :{9864
Answer Given:- Goal-7/<1&9 - 7, Option ID : -9864

Question ID:- [Z_Q__\___g_ }—h L}E <2

Which of the following statements correctly apply to deductive arguments?

8| A. Deductive arguments are either valid or invalid o
- = 4 Botovy up
NQ B. There must be a necessary relation between the premises and the conclusion —
e C. Adding new premises improves the validity -
- —

Quﬂ, D. False premises may lead to a true conclusion

cmm—
———

Choose the correct answer from the options given below:

Frafaf@d adh & ey d Fafaf@ad d Fa-d sy adi g ?
A. PRI dh AT STYaT ST g & ?

B. 3MTYUR are 9T fAserd & it sasaes dee eray gi=m anfaul
C. T8 IMMYR aTR S S+ WR ATaT § UR gt gl

D. 7T MTYR a1 @ Tl fAserd Aehe Oepar 21
ARy RFai ddTd s :

Options:-

LeK, B and D only/@ha<t A, B 3iR D, Option ID :@

. A, B and C only/aa« A, B 3R C, Option ID :- 9821,

. A, C and D only/haet A, C 3R D, Option ID :- 9823,

. B, C and D only/a&a B, C 3R D, Option ID :- 9824,
Answer Given:- A, B and C only/d&a A, B 3R C, Option ID : -9821

Question ID: "

Match List | with List Il 43

a—
List | List Il
A. Taxila I. Tantrik teachings
B. Ujjain Il. Dvaita school of thought

C. Vikramshila [lll. Medicine
D. Manyakheta|lV. Astronomy

Choose the correct answer from the options given below:

Tt -1 8 g -1l @ A A
I I !I




ot -1 o= -1l

A. aeffrer N > I. i fAem
B. I5oid A~ . f&ea R
C.faspafdem ~ ‘s |l RfFe
D. HTg W IV. @M A
H7 iy g fAereut A @ Wt SR glg:
Options:-

JA-1,B-IV,C-Iil,D-1l, Option ID :- 9897,
«A-II,B-1Il,C-1V,D -1, Option ID :- 9898,
LIA-1ILB-IV,C-1,D - Il Option ID :-'9899,

.A-IV,B-1ll,C-1l,D-1, Option ID :- 9900,
Answer Given:-A-1ll,B-1V,C-1,D - I, Option ID : W

Question ID:

The average of ten numbers is 11. If each number is multiplied by 7, then the average of the new set of

— s

numbers is: — — —
7&* n H\.— R

9 HeEAnsil o1 ofted 11 @1 afk uedas |edt st 7 @ on v o1, ot Seaneil & 39 73 | o1 offad gh

=

Options:-

.110/110, Option ID :- 9818,
. 70/70, Option ID :- 9817,

. 76/76, Option ID :- 9820,

«<"77/77, Option ID

Answer Given:- 77/77, Option ID : %9,9/

R
Question ID:-@ 'L/Olq 3 y ¢ =
> JTL

Given below are two statements ‘\'ngk L =

Statement I: According to Nyaya, universals are eternal entities which are distinct from, but inhere in many
individuals =

Statement II: The universal is the basis of the notion of sameness that we have with regard to all the
individuals of a certain class -

In light of the above statements, choose the correct answer from the options given below

fRAGFuafRgTUE:

&Y - | . A & JFER W e g € St Ay & Arens @ vehe glar g ok faLiv # & wgar g1

&Y - || ;G ANFET & 39 AR &1 snuR ¢ St foheht fasty et it /& Tt awgeii/aafeal d grar srar g1
Iud+h Yl & et # FAfafEd el # @ adt s g+

Options:-

.Both Statement | and Statement Il are false/&y= | 3R Il 14T 3/ g1, Option ID :- 9838,

o |, Both Statement | and Statement Il are true/& | 3R Il 2T @ed g1, Option ID :




. Statement | is false but Statement Il is true/&¥= | 319 & , fah=g &U=T Il = g1, Option ID :- 9840,

. Statement | is true but Statement Il is false/&¥u=T | §a & , foh=g &Y= Il 315 & |, Option ID :- 9839,
Answer Given:- Both Statement | and Statement Il are true/s | 3R Il g1 @ &1, Option ID : -9837

Question ID:

The ages of Swati and Manisha are in the ratio of 5:6 and the sum of their ages is 55 years. What will be the

—— = —

ratio of their ages after 5 years? =
- S
=5 St+#
™ Tz
T@rfar 3R A-fuT &Y 39 5:6 SIUTA A § AUT &1 hY IF 1 GIT 55 a¥f g1 uig af a1e I<h 39 T FAT ST gH ?

Options:-
.5:6/5:6, Option ID :- 9812,
. 6:5/6:5, Option ID :- 9811,

_677/6:7, Option ID

. 7:6/7:6, Option ID :- 9810,
Answer Given:- 5:6/5:6, Option ID : %

Question ID:42437

The National Repository of Open Educational Resources is managed by
stodiC
aftg g6 Aerforew My dug (Re RUSE it sifu ggahaqe Rads) &1 wea= 1 forar siar 81

Options:-
L«Central Institute of Educational Technology, NCERT/ch¢a <teiforer siertfichl sarum, o €t § 3R &, Option ID

e

. Indian Institute of Technology, Delhi/sRda et “aumE, f&esft, Option ID :- 9745,
. Indira Gandhi National Open University/gfRzr micft aifga = fasfaerer, Option ID :- 9746,

. University Grants Commission/fasjfaerera srgar= smai, Option ID :- 9748,
Answer Given:- Indian Institute of Technology, Delhi/¥Refta wtenfieh ¥, &, Option ID : -9745

Question ID:@

SWAYAM platform was develgﬁi by

A. MHRD (now Ministry of Education), Government of India
B. Google X

C. Microsoft?(,

D. IIT, Delhi

E. Adobe Inc.

Choose the correct answer from the options given below:

T Wewid o fAmfor _ Zrr frar mar @1




A. T T IR gt (31 fAe1T #@31e1), RA WRBR

B. /T
C. HISshibue
D. a17g 3¢ & et

E. TSl Sk
M Ry e RApi d d gf R :

Options:-

.A and B only/2a1 A 3R B, Option ID :- 9753,
A and C only/a&a A 3R C, Option I
. B and D only/&ae B 3R D, Option ID :- 9755,

. D and E only/&a« D 3R E, Option ID :- 9756,
Answer Given:- A and C only/daet A 3iR C, Option ID : -9754

Question ID:-

The air pollutant NOx is a combination of

OTone e
arg-ugyeh fohiepT Affte= ¢ 7

Options:-

V/.ﬁitrogen dioxide and Nitric oxide/ATsgloi= ST33iTeRITES 3R ATsfer sifaTss, Option ID :4{9867,

. Nitrogen pentoxide and Nitrogen dioxide/ATggtsTT Uer 3ifadrss 3R ATgeioi STgeiieTss, Option ID :- 9868,
. Nitrous oxide and Nitric oxide/ATsgH 3ifaaTgs 3R -efear sifaTss, Option ID :- 9866,

. Nitrous oxide and Nitrogen dioxide/=Tged 3iiaTss 3R ATS¢to STg3iTaTSE, Option ID :- 9865,
Answer Given:- Nitrous oxide and Nitrogen dioxide/aTs¢H 3iferITse 3R ATgEISA STE3HTa™TSS, Option ID : %

Question ID:- 2462

Which memory is used as part of the processor?

frg A T SuE T AR & vk AT A h Fu A frar sirar g 2

Options:-
,J-Iard disk/grEfawr, Option ID :- 9848,
/2 RAM/3%, Option ID :- 9845,

D/Registers/?ﬁlw, Option ID\;- 9847,

\» ROM/31H, Option ID :- 9846,
/

Answer Given:- Registers/fSiex, Option W " E.I PDE / R

l / 5
Question ID: 2.8 Tiam“g .
28 - wamauasaEah 8y
Identify the fallacy committed in the argument: — ’b_

e

Since no tragic actors are idiots and some comedians are not idiots, so some comedians are not tragic actors.

-_




o # g gty Y uge PG 6 AreTE T g T e ok Fo arefaT gd T8 @1 & o T
R e e T8 B &1

Options:-

.Existential Fi]facy/alﬁ?ra'lfta? gy, Option ID :- 9827,

\,/fallacy of Exclusive Fj:gmises/a:lﬁ?ﬁﬁ STYR dTe a1 &Y, Option ID :

. Fallacy of the lllicit Process of Major Term/dren &Y fAftg ufehar apr glw, Option ID :- 9825,

. Fallacy of the lllicit Process of Minor Term/ueir &t fAftrg ufekar =t glw, Option ID :- 9826,
Answer Given:- Fallacy of the lllicit Process of Major Term/drea &ht fafSg ufehar @1 g, Option ID : Xﬁ

P4
Question ID:A\2448

A general code of conduct circulated among the employees of an institution is an example of:

—

foreft G # wreTRTl & o S i s areft = SR digar T Ueh ISIEUT 2|

Answer Given:- Horizontal communication/Tw&a<ia dvwor, Option ID : -9

A . Upward communication/3tfH@ &yt Option ID :- 9792, %/

Options:- RS ot Gt CEO - Mom
V/.ﬁownward communication/3TaiH@ Huwor, Option ID :- 9789, \[ l:'Nprl%u( Coves LM"-P
C". Horizm:t_al communication/JH&IT Tuwur, Option ID :- 9791, T<— &'
> Lateral communication/urf8fes €viwor, Option ID :- 9790, J AL

= | Question ID% 2452 -

Find the next two terms in the series.

—

A, D,H M, &3 |
+2 3 1y

T et
A=faf@a sioft & era & ug 719 Hifsg :
A,DH M, __ ,_
Options:-
.Q, X/Q, X, Option ID :- 9805,
. R, Y/R, Y, Option ID :- 9806,

<8, 2/S, Z, Option ID :-

. T, A/T, A, Option ID :- 9808,

Answer Given:- S, Z/S, Z, Option ID : -98V
L

Question ID:< 2469 )

Article 48A of the Indian Constitution directs the states to ensure protection and improvement of

Pl
w#ﬁm#s@zmasmsA)ﬁuvﬁaﬁ_mﬁ?mamﬁaﬁhqﬁr@aaﬂ#%ﬁqﬁ%ﬂﬁmw%l

Options:-
.Businesses/aaddm, Option ID :- 9875,

NP




. Education/f1er, Option ID :- 9873,
o d

_~Environment/uafazur, Option ID :-(9874,
~AS

. Mineral resources/@fast @HT1eH, Option ID :- 9876,
Answer Given:- Education/f21et, Option ID : -987_;

Question ID:-(2463

Given below are two statements
Statement I: The MAC address identifies which device is connected at a given IP address
Statement Il: MAC addresses are unique to each device

In light of the above statements, choose the correct answer from the options given below

9 A (gu T ) 039 & &y A &ty Ry 1y &)

FHYUA - | : A (T Q HY) U39 I8 39 T2 Y gga & @ & g 19 ond ot gdw wR i ar g (Rarsw) v gan
gl

HYUA - || : Ak (TH ¢ ) G2 udes 9 (fRameq) o fog sifgefia gt &

Iuh HYUAT & el | FAEfoafEd e d G e s .

Options:-

.Both Statement | and Statement Il are false/er= | 3iR |l g1 3/ &1, Option ID :- 9850,

_~Both Statement | and Statement Il are true/& | 3R Il g1 &= g1, Option ID :

. Statement | is false but Statement Il is true/a&¥= | 3/ & , foh=g &Y= Il I3 &1, Option ID :- 9852,

. Statement | is true but Statement Il is false/&¥= | 9 & , foh=g %Y= Il 315 & |, Option ID :- 9851,
Answer Given:- Both Statement | and Statement Il are true/&u= | 3R Il 41 ¥ &1, Option ID : -9849

Question ID:-@

If a researcher has to test a hmothesis whether the difference between the means of two groups are
significant, s/he will use: =

uﬁ:maﬁmﬂwm;ﬁmmﬁ%mﬁaﬁﬁaﬁmﬁaﬂamaia?m%h;?.,a’tag
forarem Ui & ?

Options:-

.Chi-square test/<1g af utaror, Option ID :- 9761,

. Correlation coefficient/®g ¥l 7[uTieh, Option ID :- 9762,
. Sign-test/fa=g uierur, Option ID :- 9763,

)tudent's t-test/a= &-udtetur, Option ID :-
Answer Given:- Chi-square test/@1g @if uiaror, Option ID : -9761

Question ID:-é449 >
What is a blog?
)L

Mg ?

Options:-




X <

< Internet/3<Te, Option ID :- 9793,
. Online journal/3iT<IT84 ST=ie1, Option ID :- 9796,
/ﬂgsonal website in the form of a journal/fehet S=iet & $u # aafwhra deraTse, Option ID :- 9795,

“. Search engine/d= 514, Option ID :- 9794,
"Answer Given:- Online journal/3ifeITs Si=iet, Option ID : -9%

Subject : GP_26NOV_SH2_C

Question ID:%\ 2476 &

Read the passage carefully and answer the questions that follows

Assessment is central to almost all forms of education around the world, and in recent years, a wider variety
of assessment has tended to be used. One such form of this change is the use of peer and self-assessment.
Self-assessment can be defined as "the ability to critically assess one's own work" (Brew, 1999) and peer
assessment as "making judgments about, or commenting upon, each other's work". As with all assessment
methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with
careful initiation and moderation are effective methods of assessment. However, this brief note will argue that
in the high stakes environments of most educational settings, these methods are inappropriate, as the making
is unreliable.

Peer and self-assessment have become increasingly common as methods of assessment. particularly in
further and higher education. They are used as methods to reduce the marking loads of teachers and it is
claimed, to enhance group work and the critical thinking skills of students. It is also claimed that if marking
criteria are discussed and agreed at the start, students' marking does not differ significantly from teachers. In
studies where the assessment of different teachers is compared, and also in studies where teacher's and
peer's and or self-assessments are compared, it has generally been found that, provided criteria are discussed
and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
there is no difference between work being marked by a teacher or a student.

H R mexiar ot g2 iR usii & IR AT :

Ry wRr d srert 9oft uehR i fAen J geaiea o1 sifa Agayot =M g, auT g1e & aul | uas ifde s R &
Heich1 T IUANT e i ugfr 37 &l At @1 geaicra o1 ag uRafda yaR & 9 99g gedic- au1 @-
H™ichT ol IUANTI & Gedich bl 39 UhR GRWIA fohar 11 wehe @, "31a &k & Jeaich-T Y arvar” (5, 1999)
TUT A THg JAich i, "Teh R h A Bl Gedich heAT, HUAT I R Regvoft wear' & s & gRenfda g1 'Sk
&t w3t geaicr vonforal & IR | 71 @, 39 a1 &Y ot sraeit-sraeit fehat aur SRl €1 a8t ag Set S Jehet
¢ o srauriigdes urRY aur =T & a1y gg-ag qedic aUT @-Jic, Jedich- i yHTdt gonferai §1 uig
39 dfér feuqur & g ah Rar i1 gerdar & & sifderiar Aferes fA=ama & sigi & it 7 gig @ &t gt & o4
ardreRor § @ yonforat Iugsh A8l & aifes sieed (AR 3 & fafd) Ryaia adi g1

HE-9Hg Jedich aYUT W-Hedich-1 fAgiuar Smt & fAen aur I=aer fAen d geaie vonelt & v | wrdl vafes g
@ 21 A fAereh!l ZRT AR Ry S & FrRfYR &) 79 == @ &, auT ag ot rar forar =i @1 @ 6 394 fenfdat &
g & RAdaareres [Rias 7 off gfg eift ag oft arar fovar sran @ 6 aft sRw A gt sip Arde maaf e 3w
R YgHfd g8 ST, fAeterl & gRT fhw S aret faenfdat & siera & i Ay siar g ghm am=aa: ag urar
T ¢ b af ey # s sl wR ==t grRT wgnfa a=ré Sy, 9t 9w sremae A Sigi faf = fAerent & geaie Y gee
fI SIreht @, gt SichT Uah W TEAT 81 39 UehR Ug hgl ST JeheT & fof 9yt & aqgfRia uferor & are fonedt fAeren
3ryar faaeff & gr1 fhu S aret e &l & 1S 3iar ] gl

What is the focus of this text?
39 ursa et o i Rg e @ 2

Options:-
.Assessment and Education/qcdieh T f2ram, Option ID :- 9902,




. Assessment in general/dm™T= @R ik, Option ID :- 9903,

_PEer and Self-assessment/Tg THg Tedich AYUT T Gegich, Option ID :-

. Peer assessment/dg |Hg ik, Option ID :- 9901,
Answer Given:- Assessment in general/STH=I dR U= gich+, Option ID : -9%03

Question ID

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

i A werivr &t g R ust IR A :

Ay wR & TRt Ioft yaR Fi e 7 geaie o1 sifa Agwyuf e 8, aur g1 & aui | U sifde s uahR &
Hedich ol IUANT szt i ugf 3= it At &1 Feaia- 1 ag uRafda uar & e a9g gegic aur @-
Hegich hl SUANTI T YedichT hl §9 UehR R e i1 daven 8, "oru=t i & HegiehT hr ammar (3, 1999)
TUT g TG TAih hl, "Teh R & 1 &l GedichT heT, HYaT 39 R Ruvoflt wear’ & su d aRwfa g1 'S«
& goft geaior wonforat & ar & 711 8, 39 a1 i oft srait-sroeht kgt aun wweniRa €1 agt ag wer S aahdr
¢ for srgurigde urRY aur fRd=or & a1y g-a9g geic aUT W-gedich, Jedich-T dhl Ut gonferai §1 u’g
39 Gfer oot # ag a<h Rar i1 gepar & b sifdepiar Aferes fa=ara & sigi &8 fist ot gia o &ft gt &, o1
araTaRoT # 3 yonfergi Iugeh Tl & adlich it (dar &7 & fafd) fReaha =i 8

He-9Yg Jedichd aUT W-Hegich- fAgiuar mt &Y fAen aur I=aar fAen d geaie woret & v & srdl vafea g
B 21 @ fAerehl gRT R Ry ST & FrfuR ol 9 &= & &, a1 ag ot rar frar =i @1 & 6 394 Renffat &
g s fadareres fRiaa J oft gy it ag ot <rar frar srar @ 6 afy emesr & gt sieh ards W w=f e 39
R ggafa 18 S, fAerer! & ZRT fhw oA aret fenfdat & s & &l Ay siar = g amr=aa: ag urar
ar ¢ b afe ey & AreEl wR Taf gRT gafa 991 Sy, |t 9% g A wigt faf = fRerent & geuia B geren
& STt @, agi Sich ek THTH @1 &1 39 UehR g hgl ST HehdT g foh 3Ry & A ufAeror & arg foredt fAeren
3ryar faendt & gRrT fhw S a1t i @i A i 3iar 18T gidri

What argument the author desires to make?

AT T ah AT ATEAT & ?

Options:-
.Assessment is central to education/f1&r & geaic ki faig &1, Option ID :- 9910,

LPeer and self-assessments are inappropriate in high-stake examinations/¥g 9Hg Jedich= dUT & Yedichd
I gdterrait & Iugh A¢l @ gl s A &g R «ft gieft &1, Option ID :-

. Peer assessment is common in higher education/dg &¥g qeaich+T I=aeR fA&T & 9=4a g1, Option ID :-
9912,

. Self-assessment and peer-assessment are innovative assessment practices/¥ Hedich- dAUT Hg-THg




i T-AE! geic ggfagi g1, Option ID :- 9909,

Answer Given:- Self-assessment and peer-assessment are innovative assessment practices/¥ Jeich= dUT

TE-TE Hedich T-Aelt geaia ugfaat &1, Option ID %q

Question ID:

Read the passage carefully and answer the questions that follows

Assessment is central to almost all forms of education around the world, and in recent years, a wider variety
of assessment has tended to be used. One such form of this change is the use of peer and self-assessment.
Self-assessment can be defined as "the ability to critically assess one's own work" (Brew, 1999) and peer
assessment as "making judgments about, or commenting upon, each other's work". As with all assessment
methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with
careful initiation and moderation are effective methods of assessment. However, this brief note will argue that
in the high stakes environments of most educational settings, these methods are inappropriate, as the making
is unreliable.

Peer and self-assessment have become increasingly common as methods of assessment. particularly in
further and higher education. They are used as methods to reduce the marking loads of teachers and it is
claimed, to enhance group work and the critical thinking skills of students. It is also claimed that if marking
criteria are discussed and agreed at the start, students' marking does not differ significantly from teachers. In
studies where the assessment of different teachers is compared, and also in studies where teacher's and
peer's and or self-assessments are compared, it has generally been found that, provided criteria are discussed
and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
there is no difference between work being marked by a teacher or a student.

H R mexiar ot g2 SR usii & IR AT :

Ry wR d srert Foft uehR Y fAen J geie o1 sifa Agayot =M g, aur g1 & aul | gas sifde s R &
Hich1 T IUGNT e i ugf 3@ &l At @1 geaiora o1 ag uRafda yaR & 9 a9g gedic- au1 @-
H™ichT ol IUANTI & Hedich bl 39 UhR uRWIA fohar 11 |ehet @, "31a &k & JeaichT Y arvar” (51, 1999)
TUT g g T i, "Yoh TER & 1 ohl Gedich T, HYUar 39 W Ruveft wear & vu & aRwifta @1 'Sk
&t w3t geaior vonfordt & aR | 7 @, 39 a1 Y oY sraeit-sraeit et aur SRl €1 a8t ag Sgt S Jehel
¢ o srauriigdes urRY aut =T & a1y Sg-ag qedic aUT @-J™ic, Jedich- i yHTdt gonferai §1 uig
39 dfér feuqur & g a Rar 11 gerdar & & sifderir Afdres A= & sigi & it 7 gig @ & gt & o4
ardreRoT & @ yonforat Iugsh A8l @ aifs it (FeR 3 & fafd) Ryaia adi g1

HE-9Hg Jedich a1 W-Hedich-1 fAgivar 3mt & fAen aur I=aar fAen d geaie vonelt & v | wrdl vafes g
@ 21 A fAerehl gRT AR Ry S & FrRIUR &) 79 == @ &, auT ag +ft rar forar <1 @1 @ 6 394 fenfdat &
g o fada=reras Riaa 9 +ft gfg ghfh ag it gran fovar Sirar @ o af} smear # gt sipa amds waaf v 3w
R YgHfd g8 ST, fAetenl & gRT fhw S aret faenfdat & s & i Ay siar gt ghm amr=aa: ag urar
a1 ¢ foh af} ey d adEl R =t grr weafa a9 Sy, |t 9w sreamEl A wiei fafw= el & geaie & g
fI SIreft @, gt SichT Uah W TEAT 81 39 UehR Ug gl ST JehelT & fof 9yt & aqgfRia uferor & are fonedt fAeren
sryat femff & ZrRT fahg ST aret sk Rt # i sfeR w1 giami

Which one of the following captures the meaning of "Assessment is central to almost all forms of education”

Frafafaa § @ Fi9-a1 sy "geaicd @ 99t R & fRen @ Fdka foig 8" & o ot gaifes e g 2

Options:-

.Assessment education is key to education in all forms/geaicr= fam @t aerr 6 fxam i g=ht &1, Option ID
- 9915,

. Assessment is education in all forms/geaic 4t uehR Y farem g1, Option ID :- 9914,
. Assessment is peripheral to education in all forms/qeicr= Gt yerrR & fAem @1 aRkefra s g1, Option ID :-




\&

\

9916,

L/Assessment is pivotal to education in all forms/geaich- G4t uehR &t fAem Fr & g1, Option ID :

Answer Given:- Assessment is education in all forms/qeich gt uerR <hY fAe 21, Option ID : -997T4

Question ID:{ 2477

Study the given table carefully and answer the questions that follow

The following table has semester fees for four different courses in 5 different years

Years BCA MCA MTech MPhil
2016 25000 52000 60200 30000
2017 26500 53500 61400 32000
2018 27200 54200 62500 32600
2019 27600 55700 62900 33400
2020 28000 56800 63700 33900

i o mregier R U ofik usil & SR g :

Ry wR d srert 9oft uehR Y fAen J geaiea o1 sifa Ayt ®IF g, aur g1 & aul | gas sifde aad R &
Heich1 T IUGNT hed i ugf 3@ &l At @1 geaicra o1 ag uRafda uaR & 9 a9g gedic- au1 @-
Hegich ol IUANTI T Jedich-T hl §9 UehR URMIIa e 11 9ahen 8, "o1u=t i & FegiehT ot &ar” (3, 1999)
TUT g g i1 i, "Yoh TR & 1 hl Gedich T, AHYar 39 W Ruveft e & wu & aRwifta @1 'S
& a3t geaior vonforat & arR | 71 @, 39 a1 Y Y sraeit-sraeit et aur swsiRai €1 agt ag Tgt ST Hehet
& for graurfigde arRY aut s & a1y wg-aig geicd aUT -gedic, Jedic 6 uHTd vonfeai 81 oig
39 dfre feoqor & g ak far s gerar @ fF sifderizr Afdre fa=ara & s1ei o A< 7t <ia o & ft &< &, 39
aTaTaRoT # & yonferdi Iugeh Tl & adlich it (FaR &7 & fafd) fRsaeha =i 8

HE-9Yg Jedich aUT W-Hedich-1 fAgiuar mt &Y fAen aur I=aar fAsn d geaia vonelt & v | wrdl vafes g
T8 21 A fAerehl ZRT AR Ry S & FrRfUR &) w9 = @ &, aur ag +ft rar forar =i @1 @ & 394 fenfdat &
g o fAda=reras Ria 9 +ft gfg ghfh ag ft gran favar Sirar @ s aft smear # gt sipa amds maaf v 3w
R ggafa a8 S, fAerent & ZR1 fhw S are faenfdat & siena & &g Rty siaR & g am=aa: ag uran
T g ok afy sy A arEEt R =t grr wgnfa 91 Sy, |t 9F sreayEl | wigt fafva fAerent & geaieha Y geen
fI SIreht @, gt SichT Uah W TEAT &1 39 UehR Ig hgl ST JehelT & fof 9yt & R uferor & are fonedt fAeren
3ryar faemff & grRT fhe o a1t 3ich &t A RS 3idr =& gianl

What benefits accrue from self-assessment and peer-assessment of students?

& Gedich aYUT 9g HHg Jedich-1 ch RATATH § ?
Options:-
.Ability to criticise other's work/gE¥l & @ @t fad=r=T @+t &t &maT, Option ID :- 9905,

_Fnhancement of aroup work and critical thinkng of students/faenf¥at & wig @t aun fad=w=TeTes ”Riaa &
g, Option ID :{9906,

. Promotes uniform assessment/Qa&sd geich faf&t &t 3R &t &1, Option ID :- 9907,

. These methods do not require marking/Q wonferat & sieh=T it erragerar g1 gi<dt1, Option ID :- 9908,
Answer Given:- Enhancement of group work and critical thinkng of students/fenfaif & @wqg @ aur
fd==reres i 7 gfeg, Option ID : -9906




Question ID{- 2480

Read the passage carefully and answer the questions that follows

Assessment is central to almost all forms of education around the world, and in recent years, a wider variety
of assessment has tended to be used. One such form of this change is the use of peer and self-assessment.
Self-assessment can be defined as "the ability to critically assess one's own work" (Brew, 1999) and peer
assessment as "making judgments about, or commenting upon, each other's work". As with all assessment
methods, both have their own strengths and weaknesses. It can be argued that peer and self-assessment with
careful initiation and moderation are effective methods of assessment. However, this brief note will argue that
in the high stakes environments of most educational settings, these methods are inappropriate, as the making
is unreliable.

Peer and self-assessment have become increasingly common as methods of assessment. particularly in
further and higher education. They are used as methods to reduce the marking loads of teachers and it is
claimed, to enhance group work and the critical thinking skills of students. It is also claimed that if marking
criteria are discussed and agreed at the start, students' marking does not differ significantly from teachers. In
studies where the assessment of different teachers is compared, and also in studies where teacher's and
peer's and or self-assessments are compared, it has generally been found that, provided criteria are discussed
and agreed in advance, marks tend to be similar. Thus, it could be argued that with the right initial training,
there is no difference between work being marked by a teacher or a student.

g > 20wt ~ %
i @ mexiar it ue SR usit & IR AT : D“N"'J 2 +2

Ay wR & FerT 9oft yaR Fi e 7 geaie o1 sifa Agyul e 8, aur g1 & aui | U sifde s uahR &
Hedich hl SUANT et il ugf 3= it At &1 geaia- a1 ag uRafda uar & e a9g gegic- aur @-
k1 &1 IUANTI T J-ich ol 39 TR gRMIa forar i1 davar 8, "sia=t &rd & geaich i &t (s, 1999)
qAUT g TG TAich hl, "Teh R & 1A &l GedichT heT, HYAT 36 R RRuuolt wear’ & su d aRvfa g1 'S
& goft geaior wonforat & aR & 711 8, 39 a1 fi oft srait-sroeht ket aun wweiiiRa €1 agt ag wer S dahdr
¢ for argurigde urRY aur fRdaor & a1y g-u9g geaic aUT W-gedic, Jedich-T dh U1t gonferai §1 u’g
39 dfére feaqur 7 g ah fear S 9epdr & for sifdeniar tfares fa=ama & S1gi &°d st 9t gia o &t gi<ft &, o2
arareror § & gonferat Iuge TE & i o (FaR 3 Y R Ry a2

HE-THg Gedich aUT W-egich-T fA2oer 3t Y fAen aur I=aer fAen J geaic vonelt & $u & wrdl vafee g
@ 21 & fAerenl ZRT R Ry S & SRR &l 7 = ) €, 9uT ag ot e forar s w@r 2 f 398 Renfdat &
g ol fadueenes Riaw | off gfg ghftl o W aran fova sirar @ o af ey 7 g sie amds waaf e 3w
R ggafa g8 S, fAererl & ZRT fhw o= aret fenfdat & siera & &l Ay siar g ghm amr=aa: ag urar
ar @ b afe ey & wreEl wR Taf gR1 gafa a1 Sy, |t 9% sremma A Sigt faf = fRAerent & geuia B gere
& STt @, agi Sich Qe THTH @1 &1 39 UhR g hgl ST HehdT g foh 3Ry & aiyfAa ufAeror & arg foredt fAern
3ryar faendf & grT fohw S aret ik & A i 3iar 18T gidri

"Students' marking does not differ significantly from teachers", means: %ud l(,ca

"fRrerent ZRT fRrenfdat o1 sticheas & sichd (FaR A i Forarfafd) & fALiy siar ¢ glan " swaT o1t & -
Options:-

.Marks do not differ peripherally/3ies uR¢fia ¥u @ fa= i gia €1, Option ID :- 9918, KO P
. Marks may or may not differ/3ich {9 g e & Sruar &1 +ft g Teha &1, Option ID :- 9920,
/ﬁarks that are almost similar/& 3ier #7130 G919 gl &1, Option ID :A\9919

. Marks that differ radically from teachers/al 3ieh it fafera ferent grT & s €, f9= g1 &1, Option ID :-
9917,

Answer Givens< Marks that are almost sifhilar/d 3 T F#Re gld-#L.Option ID ; -9&1{

Subject : CSAT_SHAAN_NOV21A




en (R YY)
rwpiden Suenl- 07 3
\

A hash function h defined as h(keﬂ=key mod 7, with linear probing, is used to insert the keys 44, 45, 79, 55,
91, 18, 63 into a table indexed from 0 to 6. What will be the location of key 12? = -

2>
Options:- N& Lov- L\Q
.3, Option ID :- 9513,
. 4, Option ID :- 9514,
A,Pption ID :- 9515,

. 6, Option ID :- 9516,
Answer Given:- 5, Option ID : -9515

Question ID:- 2379

Question ID:- 2388

The probability of a too;hache, given evidence of a cavity, I:Stoothache | cavity) is
Options:-

.0.216, Option ID :- 9552, Lot s,

. 0.280, Option ID :- 9551,
. 0.400, Option ID :- 9549,

L~0.600, Option ID :- 9550,

\%3

\w

Answer Given:- 0.280, Option ID : -9551

Question ID:- 2361

Which of the following languages are not regular?

A.L={ (01)"0K | n >k, k>=0} = No ‘MW
B. L={ c"bkan*k | |-1’>_=_ 0, k>=0}

C.L={ 0"k | nzk}

Choose the con:ct answer from the options given below:
Options:-

.A and C only, Option ID :- 9442,

. Aand B only, Option ID :- 9441,

LA, B and C, Option ID :- 9444,

. B and C only, Option ID :- 9443,
Answer Given:- A and B only, Option ID : -9441

Question ID:- 2348

Identify the correct order of the following five levels of Capability Maturity Model (from lower to higher) to
measure the maturity of an organisation's software process. -

A. Defined o feked

cmMmm)
B. Optimizing =
C. Initial -
D. Managed TRDODM8B

E. Repeatable

Choose the correct answer from the options given below




Options:-

.C, A E, D, B, Option ID :- 9389,
. C,B,D,E, A, Option ID :- 9391,
. C,E, A, B, D, Option ID :- 9390,

»/C, E, A, D, B, Option ID :- 9392,
Answer Given:- C, E, A, D, B, Option ID : -9392

Question ID:- 2371
The postfix form of the expression (A+B)*(C*D-E)*F/Gis
Options:- =

AN AB+CD*E-*F*G/ Option D :- 9483, -

\\FE

«.AB+CD*E-F**G/, Option ID :- 9482,
«.AB+CD*E-FG/** Option ID :- 9481,

',(.AB+CDE*—*F*G/,0ption ID :- 9484,
Answer Given:- AB+CD*E-F G/ ** Option ID : -9481

Question ID:- 2386
>

Next five questions are based on the following passage.

e

Consider a domain consisting of three Boolean variables Toothache, Cavity, and Catch. The full joint
distribution is a 2x2x2 table as shown in the figure below.

toothache —toothache

catch —catch catch —catch

LY
?"&’b cavity | 0.108 | 0.012 | 0.072 | 0.008

—cavity | 0.016 | 0.064 | 0.144 | 0.576

The marginal probability of cavity P(cavity) is
Options:- =

.0.080, Option ID :- 9544,
. 0.120, Option ID :- 9543,
L~0.200, Option ID :- 9541,

. 0.216, Option ID :- 9542,
Answer Given:- 0.216, Option ID : -9542

Question ID:- 2400

Which of the following is used to create a database schema?

N\

Options:-

+<DDL, Option ID :- 9598,

. DML, Option ID :- 9597,
« HTML, Option ID :- 9599,
« XML, Option ID :- 9600,
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Answer Given:- DDL, Option ID : -9598

Question ID:- 2368

Match List | with List 11

List | List Il
Production Rules Grammar
A S = XY
-
X — 0 l. Greibach Normal Form
Y— 1 /
1. Context Sensitive
B. S — aS| bSS|c L
Grammar -
C. S AB /
A-O0A[1A]0 IIl. Chomsky Normal Farm
B - 0A =
D. S — aAbc ’!
Ab — bA %
Ac — Bbcee IV. S- Grammar B S L HS
bB — Bb ‘
aB— aa| aaA

Choose the correct answer from the options given below:

Options:-

LA-1ll,B-l,C-1V,D-Il, Option ID :- 9469,
«A-1lll,B-ll,C-1,D-1V, Option ID :- 9470,
/A - lil, B -IV,C -1, D - I, Option ID :- 9471,

«A-IV,B-lll,C-1,D-Il, Option ID :- 9472,
Answer Given:- A-1ll,B-1,C-1V,D - I, Option ID : -9469

Question ID:- 2360
Consider the following linear optimization problem:

Maximize Z = 6x+5y -

Subjectto 2x - 3y <=5

X+3y <=11 () 91. OW\O{ %“\d—
v Qﬂ -
4x +y<=15 = -

and x>=0, y >= 0.
The optimaﬁ;lution of the problem is:
Options:-
.15, Option ID :- 9437,
. 25, Option ID :- 9438,
£’31.72, Option ID :- 9439, —

. 41.44, Option ID :- 9440,
Answer Given:- 31.72, Option ID : -9439
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Question ID:- 2380

In the following table, the left column contains the names of standard graph algorithms and the right column
contains the time complexities of the algorithms. Here, n and m are number of vertices and edges,
respectively. Match each algorithm with its time complexity.

List | List Il

Standard graph algorithms Time complexities

A. Bellman-Ford algorithm I. O(m*log n) .
B. Kruskal's algorithm 5, [I1. O(n3) Woildwov lu__
C. Floyd-Warshall algorithm ) lll. O(n*m)

D. Topological sorting IV. O(n+m)

Choose the correct answer from the options given below:

Options:-

LA-Il,B-1,C-Illl,D-IV, Option ID :- 9520,
«A-Il,B-IV,C-Ill,D -1, Option ID :- 9518,
A -1,B-1, C-1I,D -1V, Option ID :- 9517,

——

.A-lILB-IV,C-1,D-Il OptionID :- 9519,
Answer Given:- A-1ll,B-1,C-1l, D - IV, Option ID : -9517

uestion ID:- 2341
Q «,$

In software testing, beta testing is the testing performed by
Options:-

.potential customers at the developer's location, Option ID :- 9361,
Lpotential customers at their own Io_ggtions, Option ID :- 9362,

. product developers at the customer's location, Option ID :- 9363,

. product developers at their own locations, Option ID :- 9364,
Answer Given:- potential customers at their own locations, Option ID : -9362

Question ID:- 2402
In a file allocation system, the following allocation schemes are used:
A. Contiguous 0.8

B. Indexed v

C. Linked allocation ¢

Which of the allocation scheme(s) given above will not suffer from external fragmentation? Choose the correct
answer from the options given below: -

Options:-

.A and B only, Option ID :- 9607,
. A only, Option ID :- 9605,
L»Band C only,=0ption ID :- 9606,

. C only, Option ID :- 9608,
Answer Given:- B and C only, Option ID : -9606

Question ID:- 2396

Suppose a B* tree is used for indexing a database file. Consider the following information:




size of the search key field= 10 bytes, block size = 1024 bytes, size of the record pointer= 9 bytes, size
of the block pointer= 8 bytes.

Let K be the order of internal node and L be the order of leaf node of B* tree, then (K, L)=
Options:- F o(""___l_*l__"

.(34, 31), Option ID :- 9584,

. (50, 52), Option ID :- 9582,

T~ (57, 53), Option ID :- 9581,

. (60, 64), Option ID :- 9583,
Answer Given:- (57, 53), Option ID : -9581

Question ID:-gZ

Consider following two statements:

Statement I: Relational database schema represents the logical design of the database.
Statement II: Current snapshot of a relation only provides the degES of the relation. 6w

In the context to the above statements, choose the correct option from the options given below:
Options:- o

-Both Statement | and Statement Il are FALSE, Option ID :- 9567,

. Both Statement | and Statement Il are TRUE, Option ID :- 9568,

. Statement | is FALSE but Statement Il is TRUE, Option ID :- 9566,

wt<Statement | is TRUE but Statement Il is FALSE, Option ID :- 9565,
Answer Given:- Statement | is FALSE but Statement Il is TRUE, Option ID : -9566

Question ID:- 2336,
Suppose you have eight 'black and white' images taken with a 1-megapixel camera and one '8-color' image

taken by an 8-megapixel camera. How much hard disk space in total do you need to store these images on
your computer? -

Options:- pousy
.1 GB, Option ID :- 9341,

. 3 GB, Option ID :- 9344,
. 3 MB, Option ID :- 9343,

\J 4 MB, Option ID :- 9342,
Answer Given:- 4 MB, Option ID : -9342

Question ID:- 2376_
Given below are two statements NS

Statement I: In an undirected graph, number of odd degree vertices is even.

-~

Statement II: In an undirected graph, sum of degrees of all vertices is even.

In light of the above statements, choose the correct answer from the J_ptions given below.
Options:- E\‘l_’i—

.Both Statement | and Statement Il are false., Option ID :- 9502,

\/ﬁoth Statement | and Statement Il are true., Option ID :- 9501, —

. Statement | is false but Statement Il is true., Option ID :- 9504,

. Statement | is true but Statement Il is false., Option ID :- 9503,




Answer Given:- Both Statement | and Statement Il are true., Option ID : -9501

Question ID:- 2343

In software engineering, what kind of notation do formal methods predominantly use?
Options:- -

.computer code, Option ID :- 9372,

. diagrammatic, Option ID :- 9370,

U~ mathematical, Option ID :- 9371,

=

. textual, Option ID :- 9369,
Answer Given:- textual, Option ID : -9369

Question ID:- 2344

If every requirement stated in the Software Requirement Specification (SRS) has only one interpretation, then
SRS is said to be -

Options:-

.consistent, Option ID :- 9374,

. correct, Option ID :- 9373,

\/( unambiguous, Option ID :- 9375,

. verifiable, Option ID :- 9376,
Answer Given:- consistent, Option ID : -9374

Question ID:- 2367
What language is accepted by the pushdown automaton

M=({qo, a1, 42}, {a, b}, {a, b, 2}, 5, 4o, Z, {q2})
with  5(qo, a, a) ={ (qo, aa) }; 5(qo, b, a) ={(qo, ba)}
5(qo, a, b) ={ (qo, ab) }; &(qo, b, b) ={ (qo, bb) }
5(do, a, 2) ={ (90, a2) }; (do, b, 2) ={ (90, b2) }
5(do, A, b) ={ (a1, b) }; 6(q0, A, @) ={ (a1, a) }
5(q1,a,a) ={ (a1, M) }; 8(q1, b, b) ={ (41, N) }
6(a1, A 2) ={ (a2, 2) }?
Options:- P i
.L = {w | na(w) <= ny(w), w € {a, b}*}}, Option ID :- 9466,
. L={w|naw) =np(w), w € {a, b}*}}, Option ID :- 9465,
. L={w|ny(w) <= na(w), w € {a, b}*}}, Option ID :- 9467,

V/L= {wwR | w € {a, b}*}, Option ID :- 9468, -
Answer Given:- L = { w | nj(w) <= np(w), w € {a, b}*}}, Option ID : -9466

Question ID:- 2332
What does the following function f() in 'C' return?

int f(unsigned int N) { unsigned int counter = 0; while(N > 0) { counter += N & 1;

>

N = N >> 1;} return counter == 1;}

=

Options:-




if N is a power of 2, otherwise 0, Option ID :- 9326,
. 1if N is odd, otherwise 0, Option ID :- 9325,
. 1if the binary representation of N has any 1's, otherwise 0, Option ID :- 9328,

. 1 if the binary representation of N is all 1's, otherwise 0, Option ID :- 9327,
Answer Given:- 1 if the binary representation of N is all 1's, otherwise 0, Option ID : -9327

Question ID:- 2385
puﬁ wWwI¢

Consider the sentence below.

There is a country that borders both India and Pakistan.

=

Which of the following logical expressions express the above sentence correctly when the predicate Country(x)
represents that x is a country and Borders(x, y) represents that the countries x and y share the border?

Options:-

.[3c Country(c)] = [Border (c, India) A Border (c,Pakistan)], Option ID :- 9539,
. dc Border (Country(c), India A Pakistan), Option ID :- 9540,

<3 c Country(c) A Border (c, India) A Border _(c,Pakistan), Option ID :- 9537,

. 3c Country(c) = [Border (c, India) A Border (c,Pakistan)], Option ID :- 9538,
Answer Given:- 3¢ Country(c) = [Border (c, India) A Border (c,Pakistan)], Option ID : -9538

Question ID:- 2357

Which of the following Graphs is(are) planar?

—
] —

col e 8
Refse2

Choose the correct answer from the options given below:

Options:-

.A and B only, Option ID :- 9425,
« A only, Option ID :- 9427,

. B and C only, Option ID :- 9426,
‘//. B Ely, Option ID :- 9428,

e
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Answer Given:- A and B only, Option ID : -9425

Question ID:- 2364
Given below are two statements

TR
Statement I: The family of context free languages is closed under homomorphism
- b
Statement II: The family of context free languages is closed under reversal T

In light of the above statements, choose the correct answer from the options given below
Options:-

.Both Statement | and Statement Il are false, Option ID :- 9454,

./Both Statement | and Statement Il are true, Option ID :- 9453,

. Statement | is false but Statement Il is true, Option ID :- 9456,

. Statement | is true but Statement Il is false, Option ID :- 9455,
Answer Given:- Both Statement | and Statement Il are true, Option ID : -9453

Question ID:- 2__363
Let -

L; ={0™"0M |n>=1, m>=1}

-

L, ={0™M™M0M |n>=1, m>=1}

L3 ={ 0“1“9n | n>=1} CsL

Which of the following are correct statements?

A L3=L1 NLy
B. L1 and L are context free languages but L3 is not a context free language
C. L1 and L, are not context free languages but L3 is a context free language

D. L; is a subset of L3

Choose the correct answer from the options given below:
Options:-

.A and C only, Option ID :- 9450,

. A and D only, Option ID :- 9451,

« A only, Option ID :- 9452,

/A and B only, Option ID :- 9449
Answer Given:- A and B only, Option ID : -9449

Question ID:- 2374

A data structure is required for storing a set of integers such that each of the following operations can be
done in O(log n) time, where n is the number of elements in the set.

« Deletion of the smallest element -
« Insertion of an element if it is not already present in the set

Which of the following data smjctures can be used for this purpose?




Options:- o(Legw)

5 /ﬂaalanced binary search tree can be used but not a heap., Option ID :- 9494,
« A heap can be used but not a balanced binary search tree., Option ID :- 9493,
. Both balanced binary search tree and heap can be used., Option ID :- 9495,

. Neither balanced binary search tree nor heap can be used., Option ID :- 9496,
Answer Given:- Both balanced binary search tree and heap can be used., Option ID : -9495

Question ID:- 2373

=

Two balanced binary trees are given with m and n elements, respectively. They can be merged into a balanced
binary sear@_tree in time. -

Options:-

.0(m*log n), Option ID :- 9491,

. O(m*log(m+n)), Option ID :- 9492,
. O(m*n), Option ID :- 9489,

LO(m+n), Option ID :- 9490, ¢
Answer Given:- O(m+n), Option ID : -9490

Question ID:- 2362
Any string of terminals that can be generated by the following context free grammar (where S is start nonterminal symbol)
S _,224_0
X - 0X|1X]0

Y Y0 YT|O

Options:-

.has at least one 1, Option ID :- 9445,

. has no consecutive 0's or 1's, Option ID :- 9447, logec
« should end with 0, Option ID :- 9446, =

L.<has at least two 0's, Option ID :- 9448, ~¢°
Answer Given:- has at least two 0's, Option ID : -9448

Question ID:- 2393

Given a fixed-length record file that is ordered on the key field. The file needs B disk blocks to store R number
of records. Find the average access time needed to access any record of the given file using binary search.

Options:-
B
.2,
Option ID :- 9569,
,log; B
rOption ID :- 9572,
. B+ R, Option ID :- 9570,
. B, Option ID :- 9571,
Answer Given:- 1082 B, Option ID : -9572




\¢
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Question ID:- 2356
For which value of n is Wheel graph W,, regular?

P

Options:- = -

.2, Option ID :- 9421,

~3, Option ID :- 9423
<4, Option ID :- 9423—  yracw

. 5, Option ID :- 9424,
Answer Given:- 4, Option ID : -9423

Question ID:- 2@2
Given below are two statements

Statement I: Breadth-First Search is optimal when all the step costs are equal whereas uniform-cost search is
optimal with any step-cost. T -

Bk ——
Statement II: When all the step costs are same uniform-cost search expends more nodes at depth d than the
Breadth-First Search. -

In light of the above statements, choose the correct answer from the options given below
Options:-

.Both Statement | and Statement Il are false, Option ID :- 9526,

/Koth Statement | and Statementl! are true, Option ID :- 9325,

. Statement | is false but Statement Il is true, Option ID :- 9528,

. Statement | is true but Statement Il is false, Option ID :- 9527,
Answer Given:- Both Statement | and Statement Il are true, Option ID : -9525

Question ID:- 2353
How many ways are there to assign 5 different jobs to 4 different employees if every employee is assigned at
least 1 job?

Options:- Pob \ 2
— _—

.1024, Option ID :- 9409,

. 20, Option ID :- 9412,

240, Option ID :- 9411,

. 625, Option ID :- 9410,
Answer Given:- 625, Option ID : -9410

Question ID:- 2384

—

Which among the following statement(s) is(are) FALSE?
LA. Greedy best-first search is not optimal but is often efficient.

re
B. A* is complete and optimal provided h(n) is admissible or consistent. T
p ptimal p (n) DES + B FS

C. Recursive best-first search is efficient in terms of time complexity but poor in terms of space complexity.__?

45, h(n) = 0 is an admissible heuristic for the 8-puzzle.
Options:-

.A and D only, Option ID :- 9534,

. A only, Option ID :- 9533,

. C and D only, Option ID :- 9536,

L&”C only, Option ID :- 9535,
—




Answer Given:- C only, Option ID : -9535

Question ID:- 2387,
Options:-

.0.216, Option ID :- 9548,
. 0.280, Option ID :- 9547,
. 0.400, Option ID :- 9545,

+<0.600, Option ID :- 9546,
Answer Given:- 0.600, Option ID : -9546

Regeat-

The probability of a cavity, given evidence of a toothache, P(cavity | toothache) is

L

Question ID:- 2375
cmmut.

Consider the following graph.

Among the following sequences
-

l.Labeghf
ll.Labfehg
lll.Labfhge

IV.afghbe ng

Which are depth first traversals of the above graph?

—_—

Options:-

.1'and IV only, Option ID :- 9498, M
. I, I, and IV only, Option ID :- 9497,

/f, lll, and IV only, Option ID :- ;LELOO,

« II, lll, and 1V only, Option ID :- 9499,
Answer Given:- |, lll, and IV only, Option ID : -9500

Question ID:- 2@

Consider the given tree below. Calculate the value at the root of the tree using alpha-beta pruning algorithm.

——
—_—




Max

Min

Max

Options:-

.3, Option ID :- 9529,
L5, Option ID :- 9530,
. 6, Option ID :- 9531,

. 9, Option ID :- 9532,
Answer Given:- 5, Option ID : -9530

Question ID:- 2339
Suppose a Bezier curye P() is defined by the following four control _points in the xy-plane:
Py=(-2,0); P,=(-2,4); P,=(2, 4); and P;=(2, 0). Then which of the following statements are correct?

A. Bezier curve P(t) has degree 3.

Ker(3)- 03
\ 6 .
\‘_wh
C. Bezier curve P(t) may exte:lg_ outside the convex hull of its control points. 'F-—-

—

Choose the correct answer from the options given below:
—

Options:-

\/and B only, Option ID :- 9353,
. A and X only, Option ID :- 9354,
. A, B, and £ Option ID :- 9356,

.B andXonIy, Option ID :- 9355,
Answer Given:- A and B only, Option ID : -9353

Question ID:@

The order of a leaf node in a B+ tree is the maximum number of (value, data record pointer) pairs it can hold.
Given that the block size is 1K bytes, data record pointer is 7 bytes long, the value field is 9 bytes long and a
block pointer is 6 bytes long, what is the order of the leaf node?

Options:- s

<63, Option ID :- 9509, as
—— —

. 64, Option ID :- 9510,

. 67, Option ID :- 9511,

. 68, Option ID :- 9512,
Answer Given:- 68, Option ID : -9512

Question ID:




Let (X, *) be a semigroup. Furthermore, for every a and b in X, if a # b, then a*b = b*a.

Based on the defined seimigﬂp, choose the correct equalities from the options given below:

A. Foreveryain X,a*a=a
B. For every a, b in X, a*b *a= a
C. For every a, b, cin X, a*b *c= a*c

Options:- _Q,—l
.A and B only, Option ID :- 9433,
. A and C only, Option ID :- 9434,

V/A, B and C, Option ID :

. B and C only, Option ID :- 9435,
Answer Given:- A and B only, Option ID : -9433

Question ID:-@

Which of the following are logically equivalent?

A. 1 » » ﬂ] » 7
P (g—+r)and q UJH‘_J 9
B.(p->q)»randp - (g1 X il A% 74

Clp=g)=(r—s)and (p—71) - (g —>s)

Choose the correct answer from the options given below:

Options:-

.A and B only, Option ID :- 9402,
. A and C only, Option ID :- 9404,
D/A only, Option ID :- 9401,

. B and C only, Option ID :- 9403,
Answer Given:- A only, Option ID : -9401

Question ID:- 2398 ABW

A company is consuming parts in the manufacturing of other products. Each of the part is

either manufactured within the company or purchased from the external suppliers or both. For each part,
partnumber, partname is maintained, Attribute batchnumber is maintained if the consumed part is
manufactured in the company,_If part is purchased from external supplier, then supplier name is maintained.

Which of the following constraints need to be considered when modelling class/subclass concepts in ERD for
the given problem. -
' 4

Options:-

.Disjoint constraint only, Option ID :- 9590,

. Partial participation and disjoint constraints, Option ID :- 9592,
. Partial participation, Option ID :- 9591,

L~Total specialization and overlapping constraints, Option ID :- 9589,
Answer Given:- Total specialization and overlapping constraints, Option ID : -9589

Question ID@

Consider the following recursive function F() in Java that takes an integer value and returns a string value:

public static String F( int N) {




if (N <= 0) return "-";

return F(N-3) + N+ F(N-2) +N;

S
[
}
The value of F(5) is:
Options:- _

.-1-145-2-245, Option ID :- 9331,
« -2-25-1-3-135, Option ID :- 9330,
-2-25-3-1-135, Option ID :- 9332,

« -2-25-3-135, Option ID :- 9329,
Answer Given:- -2-25-1-3-135, Option ID : -9330

Question ID:

Match List | with List Il

List | List II
System calls Description
A. fork() I. Sends a signal from one process to another process

B. exec() Il. Indicates termination of the current process

=
C. kill() /If" lll. Loads the specified program in the memory
— >

D. exit() IV. Creates a child process

Choose the correct answer from the options given below:
Options:-

JA-1,B-1,C-IV,D-I, Option ID :- 9613,
«A-IV,B-1,C-1l,D-Ill, Option ID :- 9615,

,(K—IV,B-III,C-I,D-II,OptionID:

.A-IV,B-1ll,C-1I,D-1, OptionID :- 9616,
Answer Given:- A-IV,B-1ll,C-1,D-Il, Option ID : -9614

Question ID:’
Consider the following 3 processes with the length of the CPU burst time given in milliseconds:

Process Arrival Time Burst Time

P1 0 8

P2 1 4

P3 2 9
What is the average waiting time for these processes if they are scheduled using preemptive shortest job first
scheduling algorithm? -—
Optioﬁs:-

«2.66, Option ID :- 9618,
74.66, Option ID
. 5.5, Option ID :- 9617,

. 6, Option ID :- 9620,
Answer Given:- 4.66, Option ID : -9619

Question ID:-

Find the regular expression for the language accepted by the automata given below.




Options:- (". ek , D\‘°‘P‘P°-‘Q

.(a+b)ab(ab+bb+ aa*(a+b)ab)*, Option ID :- 9462,
. (aa"(a+b)ab)” , Option ID :- 9461,
. a"(a+b)ab(ab+bb+ aa*(a+b)ab)”, Option ID :- 9464,

. a"ab(ab+bb+ aa”(a+b)ab)”, Option ID :- 9463,
Answer Given:- (a+b)ab(ab+bb+ aa”*(a+b)ab)*, Option ID : -9462

Question ID:

Match List | with List Il

List | List I
(Programming Term) (Meaning)
]Y)
A. JNDI I. Runtime support for running Java programs
B. RMI ~ [ll. The API in support of naming and directory services
lll. The methods provided by the Java development kit and runtime support for
C. JDK 2

callingfemoteynethods
D. JRE IV. The compiler and class libraries to develop Java applications

Choose the correct answer from the options given below:

Options:-

JA-1,B-1ll,C-1V,D - Ill, Option ID :- 9335,
/A -1,B-1Il,C-1V,D_-1, Option ID :
«A-1l,B-1V,C-1ll,D - I, Option ID :- 9334,

«A-1I,B-1I,C-1V,D -1, Option ID :- 9336,
Answer Given:- A-1l,B-1ll,C-1V,D - |, Option ID : -9333

Question ID: P\\&

Given below are two statements

Statement I: Cleanroom software process model incorporates the statistical quality certification of code
increments as they accumulate into a system. T -

Statement II: Cleanroom software engineering follows the classic analysis, design, code, test, and debug cycle
to software development and focussing on defect removal rather than defect prevention. ~

S— = I
In light of the above statements, choose the correct answer from the options given below




Options:-

.Both Statement | and Statement Il are false, Option ID :- 9394,
. Both Statement | and Statement Il are true, Option ID :- 9393,
. Statement | is false but Statement Il is true, Option ID :- 9396,

V'/ Statement | is true but Statement Il is false, Option ID :- 9395,
Answer Given:- Both Statement | and Statement Il are true, Option ID : -9393

Question ID:

P(cavity V toothache) is
Options:-

.0.120, Option ID :- 9554,
. 0.200, Option ID :- 9553,

_}¥0.280, Option ID :

. 0.600, Option ID :- 9556,
Answer Given:- 0.280, Option ID : -9555

Question ID
A system has 99.99% uptime and has a mean-time-between-failure of 1 day. How fast does the system has to
repair itself in order to reach this availability goal?

Options:-
Boricg
., Option ID :-, —_—

.10 Seconds, Option ID :- 9378,
., Option ID :- 9378,
.11 Seconds, Option ID :- 9379,
., Option ID :- 9379,
.12 Seconds, Option ID :- 9380,
., Option ID :- 9380,

\/(9 Seconds, Option ID :
Answer Given:- ~10 Seconds, Option ID : -9378

Question ID:@

Which of the given options provides the increasing order of asymptotic complexity of functions f1, 2, f3 and
f4? =

Afin)=2" = duglent

B. f2(n) = n3/2

C.f3(n)=nlogn

D. f4(n) = nlogn

Choose the correct answer from the options given below
Options:-

.B, C, A, D, Option ID :- 9507,

. B, C, D,@) Option ID :- 9508,

. C, B, A, D, Option ID :- 9506,




./C, B, D, ®Option ID :- 9505, -
Answer Given:- C, B, D, A, Option ID : -9505

Question ID:{ 2347

Match List | with List I

List | List I

(Software Process Model) (Decsription)

A. Waterfall Model I. Software can be developed incrementally

B. Evolutionary Model Il. Requirement compromises are inevitable

C. Component-based Software Engineeering I1l. Explicit recognition of risk)

D. Spiral Development IV. Inflexible partitioning?f'ﬁ\e project into stages

Choose the correct answer from the options given below:
Options:-

A-1L,B-IV,C-II,D-Ill, Option ID :- 9386,
«A-1l,B-1Il,C-1,D -1V, Option ID :- 9387,

/A-1V,B-1,C-II,D (i) option ID :{ 9388}

«A-IV,B-1,C-Illl,D-Il, Option ID :- 9385,
Answer Given:- A-1V,B -1, C -1I, D - lll, Option ID : -9388

Question ID:

Let us assume a person climbing the stairs can take one stair or two stairs at a time. How many ways can this
person climb a flight of eight_stairs?

Options:-

.21, Option ID :- 9417,
« 24, Option ID :- 9418,
. 31, Option ID :- 9419,

A4, Option ID :

Answer Given:- 24, Option ID : -9418

Question ID

A company stores products in a warehouse. Storage bins in this warehouse are specified by their aisle,

location in the aisle, and self. There are 50 aisles, 85 horizontal locations in each aisle, and 5 shelves

throughout the warehouse. What is the least number of products the company can have so that at least two
) - .

proc.lucts must be stored in the same bin? Disevek

Options:-

L¢21251, Option ID :
. 251, Option ID :- 9413,
. 4251, Option ID :- 9415,

. 426, Option ID :- 9414,
Answer Given:- 426, Option ID : -9414

Question ID:

Which of the following concepts can be used to identify loops?
A. Depth first orderiﬁg
B. Dominators__ ’\;‘a \0'/1 23R

C. Reducible graphs




Choose the correct answer from the options given below:
Options:-

.A and B only, Option ID :- 9473,

« A and C only, Option ID :- 9474,

D/A' B and C, Option ID

. B and C only, Option ID :- 9475,
Answer Given:- A, B and C, Option ID : -9476

Question ID:@

Match List | with List Il

L 0“‘\_&
List | List I
(Programming Paradigm) (Characteristic)
A. Imperative /’ I. Declarative, clausal representation, theorem proving
B. Object-oriented — / Il. Side-effect free, declarative, expression evaluation
C. Logic -~ lll. Imperative, abstract data type
D. Functional IV. Command-based, procedural

Choose the correct answer from the options given below:
Options:-

JA-1l,B-1ll,C-1,D- IV, Option ID :- 9340,
«A-1l,B-1V,C-1,D - Il, Option ID :- 9338,

A A-IV,B-1II,C-1,D - II, Option ID

.A-IV,B-Ill,C-1l,D-1, OptionID :- 9339,
Answer Given:-A - lll, B-1V,C -1, D - ll, Option ID : -9338

Question ID:

Given below are two statements _(:é

Statement I: The maximum number of sides that a triangle might have when clipped to a rectangular viewport
is 6.

Statement II: In 3D grgphics, the perspective transformation is nonlinear in z.

In light of the above statements, choose the correct answer from the options given below
Options:-

.Both Statement | and Statement Il are false, Option ID :- 9358,

. Both Statement | and Statement Il are true., Option ID :- 9357,

/ Statement | is false but Statement Il is true, Option ID

. Statement | is true but Statement Il is false, Option ID :- 9359,
Answer Given:- Both Statement | and Statement Il are true., Option ID : -9357

Question ID:{ 239&

The probability for Cavity, given that either Toothache or Catch is true, P(Cavity | toothache V catch) is
Options:- —_—

20.4615, Option ID (9560,

. 0.5384, Option ID :- 9558,
. 0.6000, Option ID :- 9557,




. 0.8000, Option ID :- 9559,
Answer Given:- 0.5384, Option ID : -9558

Question ID:
Match List | wi ist Il

List | List Il

Identity Name ]W
A. X + X =X I. Identity Law —
B.x+0=x _~> |Il. Absorption Law
C.x+1=1 ~< 1. Idempotent law
D.x+xy=x _~ > |IV. Domination Law

Choose the correct answer from the options given below:
Options:-

«A-1,B-lll,C-IV,D-Il, Option ID :- 9430,
«.A-IIl,B-1,C-IlI,D-1V, Option ID :- 9429,

L¢A - 111, B -1, C -1V, D II, Option ID :

«A-1lI,B-IV,C-1,D-Il, Option ID :- 9432,
Answer Given:- A-1ll,B-IV,C-1,D - ll, Option ID : -99@/

Question ID:

Given memory access time as p nanoseconds and additional q nanoseconds for handling the page fault. What
is the effective memory access time if a page fault occurs once for every 100 instructions?

Options:-
q

+ -

KT

’O’ption ID

p+q
. 100,
Option ID :- 9602,
.P+q,
Option ID :- 9603,
P
1009
Option ID :- 9604,
Answer Given:- P+, Option ID : -9603 X

Question ID:

Which agent deals with the happy and unhappy state?
Options:- - -

.Goal-based Agent, Option ID :- 9523,
. Learning Agent, Option ID :- 9524,
. Model-based agent, Option ID :- 9522,

L Utility-based agent, Option ID :- 9521,
Answer Given:- Utility-based agent, Option ID : -9\5/2}

Question ID.< 2337)
Which of the statements given below are correct?

The midpoint (or Bresenham) algorithm for rasterizing lines is optimized relative to DDA algorithm in that
= -

A. it avoids round-off operations, —




B. it is incremental.

C. it uses only integer arithmetic. T

D. all straight lines can be displayed as straight (exact).
Choose the correct answer from the options given below:

Options:-
.A and B only, Option ID :- 9345,
. A and C only, Option ID :- 9346,

./ A, B, and C only, Option ID

. A, B, C, and D, Option ID :- 9347,
Answer Given:- A, B, and C only, Option ID : -9348

Question ID:‘

What is the minimum number of states required to the finite automaton equivalent to the transition diagram
given below? =

Options:-
.3, Option ID :- 9457,
« 4, Option ID :- 9458,

L5, Option |

. 6, Option ID :- 9460,
Answer Given:- 5, Option ID : -9459

Question IDX 2350

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Software developers donot do exhaustive software testing in practice.




\¥

Reason R : Even for small inputs, exhaustive testing is too computationally intensive (e.g., takes too long) to
run all the tests.

In light of the above statements, choose the correct answer from the options given below
Options:-

.A is false but R is true, Option ID :- 9400,

. Ais true but R is false, Option ID :- 9399,

L7Both A and R are true and R is the correct explanation of A, Option ID :

. Both A and R are true but R is NOT the correct explanation of A, Option ID :- 9398,
Answer Given:- Both A and R are true and R is the correct explanation of A, Option ID : -9397

Question ID:

In the context of Software Configuration Management (SCM), what kind of files should be committed to your
source control repository? T =

A. Code files

B. Documentation files

C. Output files

D. Automatically generated files that are required for your system to be used
Choose the correct answer from the options given below:

Options:-

.Aand B only, Option ID :
. B and C only, Option ID :- 9382,
. C and D only, Option ID :- 9383,

. D and A only, Option ID :- 9384,
Answer Given:- D and A only, Option ID : -9384

Question ID

Given the following STUDENT-COURSE scheme: STUDENT (Rollno, Name, courseno) COURSE (courseno,
coursename, capacity), where Rollno is the primary key of relation STUDENT and courseno is the primary key
of relation COURSE. Attribute coursename of COURSE takes unique values only. Which of the following
query(ies) will find total number of students enrolled in each course, along with its coursename. .

A. SELECT coursename, count(*) 'total' from STUDENT natural join COURSE group by coursename;

B. SELECT C.coursename, count(*) ‘total' from STUDENT S, COURSE C where S.courseno=C.courseno group
by coursename;

C. SELECT coursename, count(*) 'total' from COURSE C where courseno in (SELECT courseno from
STUDENT);

Options:-

v,d(and B only, Option ID :

« A only, Option ID :- 9575,
. B only, Option ID :- 9576,

« C only, Option ID :- 9574,
Answer Given:- C only, Option ID : -9574)q

Question ID:( 2403 >




Given below are three statements related to interrupt@ling mechanism (@A

A. Interrupt handler routine is not stored at a fixed address in the memory.

B. CPU hardware has a dedicated wire called the interrupt request line used for handling interrupts
C. Interrupt vector contains the memory addresses for speciaized interrupt handlers.

In the context of above statements, choose the correct answer from the options given below:
Options:-

.A is TRUE only, Option ID :- 9609,

. Both A and B are TRUE only, Option ID :- 9611,

. Both A, C are TRUE only, Option ID :- 9612,

V,(ﬂoth B and C are TRUE only, Option ID :
Answer Given:- Both A and B are TRUE only, Option ID : -9611

Question ID:

Which of the DBMS component ensures that concurrent execution of multiple operations on the database
results into a consistent database state? - -

Options:-

.Buffer manager, Option ID :- 9562,
. File manager, Option ID :- 9563,

. Logs, Option ID :- 9561,

‘/(T ransaction processing system, Option ID :
Answer Given:- Transaction processing system, Option ID : -9564

Question ID

A double-ended queue (dequeue) supports adding and removing items from both the ends of the queue. The
operations supported by dequeue are AddFront(adding item to front of the queue), AddRear(adding item to the
rear of the queue), RemoveFront(removing item from the front of the queue), and RemoveRear(removing item
from the rear of the queue). You are given only stacks to implement this data structure. You can implement
only push and pop operations. What's the time complexity of performing AddFront() and AddRear() assuming
m is the size of the stack and n is the number of elements?

Options:- —

\/‘6(1) and O(n), Option ID <9486
. O(m) and O(n), Option ID :- 9485,
. O(n) and O(1), Option ID :- 9487,

. O(n) and O(m), Option ID :- 9488,
Answer Given:- O(1) and O(n), Option ID : -9486

Question ID

What is the transformation matrix M that transforms a square in  the xy-plane defined by

1,10, 1,107, (1, =) and (1, —1)7 to a parallelogram whose corresponding vertices are
@, 17, 0,17, (=2, =1)" and (0, —1)"2

Options:-

110
{010}
M=L001

'6ption ID




r1 007
110
.M=L001]
Option ID :- 9350,
r1 117
010
Mm=Loo1]
Option ID :- 9351,
r11 07
110

.M=Ll001]
Option ID :- 9352,
111
010
Answer Given:- M =L0 01

, Option ID : -9351

Question ID

Given below are two statements N
K|
Statement I: LL(1) and LR are examples of Bottom-up parsers. F

Statement II: Recursive descent parser and SLR are examples of Top-down parsers ‘:
_—-—rO‘P =
In light of the above statements, choose the correct answer from the options given below

Options:-

VxB'oth Statement | and Statement Il are false, Option ID :
. Both Statement | and Statement Il are true, Option ID :- 9477,
. Statement | is false but Statement Il is true, Option ID :- 9480,

. Statement | is true but Statement Il is false, Option ID :- 9479,
Answer Given:- Both Statement | and Statement Il are false, Option ID : -9478

Question ID: 202
The V components in MVC are responsible for: =

Options:- ™M
.Business logic and domain objects., Option ID :- 9367,
. Security of the system., Option ID :- 9366,

. Translating between user interface actions/events and operations on the domain objects., Option ID :- 9368,

< User interface., Option ID :-

Answer Given:- Business logic and domain objects., Option ID : -9367

e

Question ID(— 2397 >

Given a relation scheme R(x,y,z,w) with functional dependencies set F={x—y, z—w}. All attributes take single
and atomic values only.

A. Relation R is in First Normal FORM

B. Relation R is in Second Normal FORM

C. Primary key of R is xz

Choose the correct answer from the options given below:

Options:-




V/A and C only, Option ID :

. B and C only, Option ID :- 9586,
. B only, Option ID :- 9588,

« C only, Option ID :- 9585,
Answer Given:- A and C only, Option ID : -9587

Question IDX. 2352

Which of these statements about the floor and ceiling functions are correct?
Statement I |2x] = |x]+ |x + (1/2)] for all real number x

Statement Il: [x 4+ y] = [x]+ [¥] for all real numbers x and y

Options:-

.Both Statement | and Statement Il are false, Option ID :- 9406,
. Both Statement | and Statement Il are true, Option ID :- 9405,
. Statement | is false but Statement Il is true, Option ID :- 9408,

-\,/Statement I is true but Statement Il is false, Option ID :

Answer Given:- Both Statement | and Statement Il are true, Option ID : %&7

Question ID:

A transaction may be in one of the following states during its execution life cycle in concurrent execution
environment.

A. FAILED

B. TERMINATED

C. PARTIALLY COMMITTED
D. COMMITTED

E. ACTIVE

Given a transaction in active state during its execution, find its next transitioned state from the options given
below:

Options:-
.A only, Option ID :- 9593,
. C only, Option ID :- 9595, (18N L‘vdemlb

. D only, Option ID :- 9596,

LEither A or C only, Option ID :
Answer Given:- D only, Option ID T-9596

Question ID{- 2331
Which of the statements given below is/are correct?

It is always important and useful to include an ‘alt’ attribute on 'img' tag in HTML because

A. users who cannot see the image due to vision impairment can have a textual description of the image
(which can be spoken aloud by a screenreader).

B. If the image fails to load (slow connection, broken path, etc.) then alt text is displayed instead.

C. SEO (Search Engine Optimization) benefits.




Choose the correct answer from the options given below:

Options:-
.A only, Option ID :- 9321,

A, B, and C, Option ID

. B and C only, Option ID :- 9322,

. C only, Option ID :- 9323,
Answer Given:- A, B, and C, Option ID : -9324

Question ID

Given the following STUDENT-COURSE scheme: STUDENT (Rollno, Name, Courseno) COURSE (Courseno,
Coursename, Capacity), where Rollno is the primary key of relation STUDENT and Courseno is the primary key
of relation COURSE. Attribute Coursename of COURSE takes unique values only. The number of records in
COURSE and STUDENT tables are 3 and 5 respectively. Following relational algebra query is

executed: R=STUDENT X COURSE

Match List | with List Il in context to the above problem statement.

List | List Il
A. Degree of table R I. 15
B. Cardinality of table R Il. NIL

C. Foreign key of relation STUDENTIII. 6
D. Foreign key of relation COURSE |IV. Courseno

Choose the correct answer from the options given below:

Options:-

«A-l1,B-lll,C-IV, D - Il (options 2 and 4 are same), Option ID :- 9579,
«A-lI,B-lll,C-IV,D-Il, Option ID :- 9578,

«A-l,B-lll,C-Il,D- IV, Option ID :- 9580,

LA -Il,B-1,C-IV,D - I, Option ID (- 9577, )
Answer Given:- A -1, B -Ill, C -ll, D - IV, Option ID : -9580

Subject : CSA1_SHAAN_NOV21B

Question ID

Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame
size and page size is same for the given machine.

03\ wh

Find number of pages required for the given virtual address space
Options:- =

210, Option ID :- 9625,
. 212 Option ID :- 9628,

A+ 220, Option ID

. 230 Option ID :- 9627,
Answer Given:- 212, Option ID : -9628

Question ID:-

Read the following and answer the questions:




v/

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame
size and page size is same for the given machine.

What is the size of page table for handling the given virtual address space, given that each page table entry is
of size 2 bytes?

Options:-
.12KB, Option ID :- 9636,
. 2KB, Option ID :- 9634,

,/2MB, Option ID :

. 32MB, Option ID :- 9635,
Answer Given:- 2KB, Option ID : -

Question ID:-(2408 ! .W

Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame
size and page size is same for the given machine.

VA

What is the minimum number of bits needed for the physical address?
Options:-

.12, Option ID :- 9632,
« 24, Option ID :- 9631,
. 28, Option ID :- 9629,

L.s”34, Option ID :

Answer Given:- 34, Option ID : -9630

Question ID:

Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame
size and page size is same for the given machine.

The number of bits reserved for the frame offset is

Options:-
#/12, Option ID : (;M‘PY"J’MMVL
. Qa9
. 14, Option ID :- 9622, 055 M9y owedy

. 32, Option ID :- 9623,

. 8, Option ID :- 9624,
Answer Given:- 32, Option ID : -9623

Question ID

Read the following and answer the questions:

Consider a machine with 16 GB main memory and 32-bits virtual address space, with page size as 4KB. Frame
size and page size is same for the given machine.

If a process of size 34KB is to be executed on this machine, then what will be the size of internal

fragmentation for this process?



Options:-
.1KB, Option ID :- 9639,

< 2KB, Option ID :t 9640

. 4KB, Option ID :- 9637,

« Zero, Option ID :- 9638,
Answer Given:- Zero, Option ID : -9638

Subject : CSA1_SHAAN_NOV21C

Question ID:

Match List | with TCist Il

List | List Il

A. Data Link Layer _—> |l. True end-to-end layer
B. Network Layer / __3|Il. Token Management

C. Transport Layer /_~ |lIl. Produce billing information
D. Session Layer IV. Piggybacking

Choose the correct answer from the options given below:
Options:-

LA-I,B-1lIl,C-1,D -1V, Option ID :- 9683,
«A-1V,B-1,C-Ill,D-Il, Option ID :- 9684,
«A-1IV,B-1l,C-1,D-Illl, Option ID :- 9682,

V/A -1V,B - III,Option ID

Answer Given:- A-1V,B-1ll,C-1, D - Il, Option ID : -9681

Question ID:

Let G(x) be the generator polynomial used for CRC checking. The condition that should be satisfied by the G(x)
to catch all errors consisting of an odd number of inverted bits is:

Options:- P ‘13
.(1-x2) is factor of G(x), Option ID :- 9720, _

V/(x ) is factor of G(x), Option @
. (x2+1) is factor of G(x), Option ID :- 9719,

. (x-1) is factor of G(x), Option ID :- 9718,
Answer Given:- (x2+1) is factor of G(x), Option ID : -9719

Question ID:
Given below are two statements

Statement I:

Telnet, Ftp, Http are application_layer protocol T

Statement II:

The Iridium project was planned to launch 66 low orbit satellites. — _(2

In light of the above statements, choose the correct answer from the options given below
Options:-

.Both Statement | and Statement Il are false, Option ID :- 9686,

. Both Statement | and Statement Il are true, Option ID :- 9685,

. Statement | is false but Statement Il is true, Option ID :- 9688,
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-\../Statement | is true but Statement Il is false, Option ID :-9687,

Answer Given:- Both Statement | and Statement Il are true, Option ID : -9685

Question ID:

Which of the following is not an example of pseudo-instruction?
Options:- — =

.DEC, Option ID :- 9654,
. END, Option ID :- 9655,

LHLT, Option ID : Mi LWMWC:C

. ORG, Option ID :- 9653,
Answer Given:- ORG, Option ID : -9653

Question ID:’

Arrange the following in the increaslm;_order of complexity.
A. 1/0 Module

B. 1/0 processor

C. 1/0 Channel

D. DMA

Choose the correct answer from the options given below
Options:-

.A, B, C, D, Option ID :- 9663,

A, D, C, B, Option ID

. C,D, A, B, Option ID :- 9662,

. D, C, B, A, Option ID :- 9661,
Answer Given:- A, B, C, D, Option ID : -9663

Question ID:

Which of the following statement is true?

A. Control memory is part of the hardwired control unit.
B. Program control instructions are used to alter the sequential flow of the program.

C. The register indirect addressing mode for accessing memory operand is similar to displacement addressing
mode.

D. CPU utilization is not affected by the introduction of Interrupts. 2 |3

L

Options:- RiSC (isC
.A, Option ID :- 9677,

“/B, Option ID

. C, Option ID :- 9679,

. D, Option ID :- 9680,

Answer Given:- B, Option ID : -9?6/
N

Question ID

In Ethernet when Manchester coding is used, the bit rate is
Options:- —_—




\/Flalf the baud rate, Option ID < 9693:;

. Same as the baud rate, Option ID :- 9696,
« Thrice the baud rate, Option ID :- 9695,

. twice the baud rate, Option ID :- 9694,
Answer Given:- Half the baud rate, Option ID : -9693

Question ID

A message is encrypted using public key cryptography to send a message from sender to receiver. Which one
of the following statements is True? _—
=

Options:- ?\QQ
.Receiver decrypts using his own public key, Option ID :- 9708,

. Receiver decrypts using sender’s public key, Option ID :- 9707,

. Sender encrypts using his own public key, Option ID :- 9706,

v~/ Sender encrypts using receiver’s public key, Option ID :
Answer Given:- Sender encrypts using receiver's public key, Option ID : -9705

Question ID:

Given below are two statements

Statement I: CISC computers have a large of number of addressing modes.

_

Statement II: In RISC machines memory access is limited to load and store instructions.

In light of the above statements, choose the correct answer from the options given below
Options:-

.Both Statement | and Statement Il are false, Option ID :- 9674,

D/Both Statement | and Statement Il are true, Option ID St
. Statement | is false but Statement Il is true, Option ID :- 9676, B

. Statement | is true but Statement Il is false, Option ID :- 9675,
Answer Given:- Both Statement | and Statement Il are true, Option ID : -9673

Question ID

A digital computer has a common bus system for 8 registers 16 bits each. How many multiplexers are
required to implement common bus? What size of multiplexers is required?

Options:- MB -
.16, 16x1, Option ID :- 9652,

16, 8x1, Option ID

. 8, 16x1, Option ID :- 9650,

. 8, 8x1, Option ID :- 9651,
Answer Given:- 8, 16x1, Option ID : -9650

r

Question ID:
Which of the following statements are true?

A. X.25 is connection-oriented network ‘T

—
—

B. X.25 doesn’'t support switched virtual circuits.




C. Frame relay service provides acknowledgements.

D. Frame relay service provides detection of transmission errors.

—_—

Choose the correct answer from the options given below:

Options:-
\‘,(K and D only, Option ID :@

. B and C only, Option ID :- 9716,
. B and D only, Option ID :- 9714,

. C and D only, Option ID :- 9715,
Answer Given:- B and C only, Option ID : -9716

Question ID:

Which of the following statements are true?
A. Frequency division multiplexing technique can be handled by digital circuits.

B. Time division multiplexing technique can be handled by analog circuits

+C. Wavelength division multiplexing technique is used with optical fiber for combining two signals.

L+D. Frequency division multiplexing technique can be applied when the bandwidth of a link is greater than the

A%

bandwidth of the signals to be transmitted.

Choose the correct answer from the options given below:
Options:-

A and D only, Option ID :- 9711,

. B and D only, Option ID :- 9712,

. B and D only, Option ID :- 9709,

LZC and D only, Option ID

Answer Given:- A and D only, Option ID )@

Question ID:’ ‘
The Octal equivalent of hexadecimal (D.C){g is: — (( u@i\a -
LIy Ok

Options:- —
.(15.3)g, Option ID :- 9647,

,/(15.6)g, Option ID

. (61.3)g, Option ID :- 9648,

. (61.6)g, Option ID :- 9646,
Answer Given:- (15.3)g, Option ID : -9}(

Question ID:

The reverse Polish notation of the following infix expression [A*{B+C*(D+E)}] / {F*(G+H)} is .
Options:- —

«ABCDE*++*FGH+*/, Option ID :- 9658, Q ul‘)éi X

- ABCDE+**+FGH+*/, Option ID :- 9660,
. ABCDE+*+*FGH*+/, Option ID :- 9659,

¢ ABCDE+*+*FGH+*/, Option ID

Answer Given:- ABCDE+*+*FGH+*/, Option ID : -9657




A\

Question ID:@

In electronic mail, which of the following protocols allows the transfer of multimedia?
Options:- —_—

.IMAP, Option ID :- 9701, M gopn
LZMIME, Option ID :-
. POP3, Option ID :- 9703,

« SMTP, Option ID :- 9702,
Answer Given:- MIME, Option ID : -9704

Question ID:

The cache coherence problem can be solved

A. by having multiport memory

B. allow only nonshared data to be stored in cache

C. using a snoopy cache controller

D. uisng memory interleaving

Choose the correct answer from the options given below:

Options:-
A and C only, Option ID :- 9669,

\’/B and C only, Option ID

. B and D only, Option ID :- 9672,

. D and C only, Option ID :- 9671,
Answer Given:- B and D only, Option ID : -9672

Question ID@ E‘LB

The address of class B host is to be split into subnets with 6-bit subnet number. What is the maximum number
of the subnets and the maximum number of hosts in each subnet?
Options:-

‘\/{62 subnets and 1022 hosts, Option ID :

. 62 subnets and 262142 hosts, Option ID :- 9697,
. 64 subnets and 1024 hosts, Option ID :- 9698,

. 64 subnets and hosts 262142, Option ID :- 9699,
Answer Given:- 62 subnets and 1022 hosts, Option ID : -9700

Question ID:{ 2411

Match List | with List Il 2519 P‘t&

List | List Il |
A. Odd Function 2 |l. NAND gate

B. Universal Gate +~ Il. XOR gate

C. 2421 code — lll. Amplification

D. Buffer )| IV. Self-Complementing

Choose the correct answer from the options given below:
Options:-

A-1,B-Il,C-Il,D- IV, Option ID :- 9641,
.A-1L,B-Illl,C-1lI,D-IV, Option ID :- 9643,




LA - 1B a, C- |v; D - 111, Option ID :

«.A-IV,B-II,C-1ll,D-1,Option ID :- 9644,
Answer Given:- A-1l,B-1,C-1V,D - lll, Option ID : -9642

Question ID:-641 7)
The characteristics of the combinational circuits are:

A. Output at any time is function of inputs at that time
B. Contains memory elements
C. Do not have feedback paths

D. Clock is used to trigger the circuits to obtain outputs o
fapnt s S

Choose the correct answer from the options given below:
Options:- N@}% qo}
.A and B only, Option ID :- 9665, })I“'/ Y
+
&Z A and C only, Option ID 90_@ Cs ? Wl Oﬁt -3 \ﬁ"_’
- 12
. B and C only, Option ID :- 9666,

. B and D only, Option ID :- 9668, LOWS:‘_’_ ™)
Answer Given:- B and D only, Optim: 7966Q

Question IDS 2423 D
Which of the following statement is False?

Options:-
.Packet switching can lead to reordering unlike circuit switching., Option ID :- 9692,

. Packet switching leads to better utilization of bandwidth resources than circuit switching., Option ID :- 9689,

wPacket switching results in less variation in the delay than circuit switching., Option ID :% 9690,

LPacket switching sender and receiver can use any bit rate, format or framing method unlike circuit
switching., Option ID : @

Answer Givan:- Packet switching Ieadsfertt‘ENQilizatiM bandwidth+esources than circuit switching.,
Option ID : -9689
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